T
.'-
Ay . W

\ ]

Lv“ﬂ GI—OBE AIRMOTORS B.V.

GLOBE Airmotors | Boerhaaveweg 9-11 | NL - 2408 AD Alphen a/d Rijn | Tel +31 172 426 608 | info@globe-benelux.nl

Brochure

GLOBE Piston Air Motor

LRQA

CERTIFIED

1ISO 9001

globe-airmotors.com




About GLOBE Airmotors

GLOBE Airmotors is part of the GLOBE Group. The GLO-
BE Group was founded in 1986 and

specializes in the developing, producing, advising and
sales of air motors, gas boosters, high pressure test equip-
ment and systems.

The focus of GLOBE Airmotors is mainly on the sales of
the air motors. We offer a very wide program of different
types of air motors. With a team of experts with lots of ex-
perience, we are able to help with all kinds of questions
about air motors and everything related to high pressure.
A big benefit is that we have our own production depart-
ment. Because of this, we do not just exactly know what
we sell, we can also provide customization for all our
products.

GLOBE Airmotors has a high standard when it comes to
the quality of our products. Pneumatic drives are often
applied in explosive atmospheres. That is why it is possi-
ble to order most of our air motors, including the gearbo-
xes and brakes, with ATEX certification. We are also ISO
Q001: 2015 certified to guarantee our work processes
and quality.

LRQA

CERTIFIED

1SO 9001

2 - GLOBE PISTON AIR MOTOR BROCHURE

Contents

About GLOBE Airmotors
Avantages of a GLOBE Airmotor
RM110 Piston Air Motor
Options RM110 | Brake
Options RM110 | Gearbox
Options RM110 | Control Valve
RM210 Piston Air Motor
Options RM210 | Brake
Options RM210 | Gearbox
Options RM210 | Control Valve
RM310 Piston Air Motor
Options RM310 | Brake
Options RM310 | Gearbox
Options RM310 | Control Valve
RM410 Piston Air Motor
Options RM410 | Brake
Options RM410 | Gearbox
Options RM410 | Control Valve
RM510 Piston Air Motor
Options RM510 | Brake
Options RM510 | Gearbox
Options RM510 | Control Valve
RM610 Piston Air Motor
Options RM410 | Brake
Options RM610 | Gearbox
Options RM610 | Control Valve

Accessories for the Piston Air Motor

Brakes
Controls
Silencers

Ordering Code




The GLOBE Piston Air Motors

The Globe RM air motors are a series of compact heavy duty radial piston air motors offering an exceptional
range of control valve and output options. The motors are designed to develop greater power than other motors
of equivalent size. GLOBE piston air motors are being used in the most heavy and extreme conditions that require
lots of power. Typical applications are winches, pump drives, offshore and mines. These motors are available with
pneumatic brakes and proportional control valves for very accurate speed control.

Our air motors have a power range from 0,1 kW up to 23 kW. The air motors can be supplied in combination
with a gearbox for higher torques and lower speeds. Custom built solutions are possible due to our own design
and production department. All standard motors are available from stock.

Advantages of a GLOBE Piston Air Motor

The GLOBE Piston Air Motors are instantly reversible, resistant to diry and damp conditions and have a relatively
inexpensive variable speed control. These air motors are most suitable for heavy duty applications and can be
supplied direct coupled to various types of gearboxes (ATEX and Non-Atex). The GLOBE Piston Air motors have
a rugged design with modular options for the mountings, brake, gearbox and control valve.

olis 4

o=

Modular design Suitable for every Robust
operating condition

The piston motors can be ex- Our piston motors are safe to use in The GLOBE piston motors are

panded as desired with various environments with high temperatures or powerful and robust and the-

accessories such as brakes, humidity. Available with ATEX Certification refore suitable for heavy duty

(control) valves and gearboxes.  for extreme conditions in hazardous areas. application.

Possible with ATEX Certification
The GLOBE piston air motors and pneumatic brakes are possible to order with ATEX certification according to
the following (harmonized) standards:

EN-1ISO80079-36:2016

EN-ISO80079-37:2016 In which:
The motors are marked with the following EX marking: I Equipment group Il for use above ground
2G Category 2G for use in Zone 1 or 2
UK 112G Ex h 1ICT5 Gb 2D Category 2D for use in Zone 21 or 22
c € cA 11 2D Ex h IIIC T100°C Db Exh Protection by constructional safety “c” Gas
Inc group IIC
-20° sTa<+60°C nc Dust group IlIC
T4 Temperature class T4
The pneumatic brakes are marked with the following EX marking: TS5 Temperature class T5
T100°C  Maximum surface temperature 100°C
UK 11 2G Ex h I1C T4 Gb X 2:5°C Mcn‘(imum surfoce.temperature 135°C
c € cA 11 2D Ex h IIIC T135°C Db X o Equ!pment protect{on level Gb
Equipment protection level Db
-10°<Ta<+60°C Ta Ambient temperature range

GLOBE PISTON AIR MOTOR BROCHURE - 3




RM110 Piston Air Motor

1,2kW / 2.4 H.P.

Why buy the GLOBE RM110 Piston Air Motor
Our RM 110 Piston Air Motors have a power range of 1,2 kW (2.4 HP) with 8Nm (5.9 Ibs ft.) torque at max.
power. Our piston air motors are designed to develop geater power than other motors of equivalent size. These

piston motors can be completed as desired with various accessories such as brakes, (control) valves and gear-
boxes.

Dimensions RM110
200 mm 204 mm 66 mm
|- -l 14 =
A B . Inlet & Secondary 3.5 mm Circlip Groove
Filler / Exhaust Adaptor Plate —
Breather 2 Ports Tapped 1/2" BSP h l«— 30 mm
(deleted when using e 27 mm
valve options)
e !
14 mm
Primary | 13D mm
Exhaust h= 'l _{

RL 64|mm
— 1

K | '
Port Tapped J}\ A
3/4" BSP —p| — 27 mm

Effective

188 mm dia.

4 holes Flange Oil Level Plug — 5mm
11 mm dia. I . (Horizontal mounting) Square Key
on16smmp.cp.  Ofl DrainPlug

Mounting F.
(Level Plug Vertical Mounting) ounting Face

Arrows show direction of rotation
with airflow direction as shown
(Reverse port connections A & B
for opposite rotation)

Dimensions RM110 + Foot Bracket

204 mm 66 mm |
Inlet & Secondary Circlip Groove
Exhaust Adaptor Plate
2 Ports Tapped 1/2" BSP e 30 mm
(deleted when using
X |l— 27 mm
valve|options)
— N
T
14 mm
Primary ‘ 13p mm
4
Exhaust oo J \L
™ /; 84/mm
‘ | Y
5/mm Port Tapped f’\@
. 0_' app —
cenfre height 3/4" BSP i |— 27 mm
Effective
Qil Level Plug ~ — 5mm
¢_ (Horizontal mounting) Square Key

32mm
? \ T Arrows show direction of rotation
| 140 with airflow direction as shown
mm ;
ot 2 holes (Reverse port connections A & B
le 203 mm - 14 mm diameter for opposite rotation)

Plan - Foot bracket fixing hole details

4 - GLOBE PISTON AIR MOTOR BROCHURE




Gearbox ratio: None

Maximum speed: 2400 RPM
No Control Valve fitted

Reading Graphs - Scales have been adjusted to enable bar and psi to be read from a common curve.
Therefore only read psi with the left hand axis and bar with the right hand axis.

GRAPH 1 TORQUE - SPEED

10 13
9"\"i"""'"""""""'_12
__.\__>leopsl._____________-_n
8
17
AR o NG [ B (/) I NG S I (P R I T
7 100 ~]
"\{"' o7 i'\““'“"‘-’
€ | L | T 80ps, > ____B\% i
u . I~ \s* S E
2 I~ &
= 5---&-----\0—-\-\-k-—g\v7 w
2 I~~~ . ‘\ g
[ e [ S L = =|- -6
g 4 ~~ \\ ™ \\Gsa g
T o[- - J_60 R T N __'_-_5 =
3 50 4
| \
2—— ————N40- -——K—--\{B‘a’-_—:i
_ ______-____._\_\___\ _>_2
1 —
i it (A RC R B R B IE N I SO s N i o
\
01T T T T T T T T T T T 10
0 200 400 600 800 1000 1200 1400 1600 1800 2000 2200 2400
SPEED revs per min
GRAPH 3 POWER - SPEED
30 T T T T T T T
28 PEAK POWER is developed at 2000 r.p.m.
“°7H and it is desirable that the motor's continuous | = [ —  — ~ |~ — | ~ | 20
261 operating conditions are as close to this as
71 possible, since this gives optimum
| performance and air consumption. “ -1~ -|8Bar~ |18
244 / o~
PY 31 SIS SRS PRyl R R R AP PR 197« S e S Y
——
20
o =t == =F ===l - === = 14
w1g q,QQ — | — ;
= L. __________’\/__ | __|6Bar_ |, =
Qe A <
5,’1.4__ —=— _//.\905\ e 1.0%
gm /| 7 L1 | ™ 4
T = ————_--730/———7-—*——‘“-&—0.8
1.0
d 10
N g //;/K/s\- ---—4Bar—~—0.s
0.8 0P ~
S g3
06— ////_ r_/_ﬂ.______.___ —l-04
" /// o =1
[ _ ,//__/f__ ______.Eﬁ\-_u_o_z
0.2
Y | L U I I 1 I I I I 1 U 0

0 200 400 600 800 1000 1200 1400 1600 1800 2000 2200 2400
SPEED revs per min

LUBRICATING OIL CAPACITIES

Vertical 150ml

Use a goood quality hydraulic oil with a viscosity of around
100cSt (460SSU) at 40°C (104°F)

Horizontal 75ml

AIRLINE FILTRATION AND LUBRICATION

Use 64 micron filtration or better. Choose a lubricator suita-
ble for the flow required. Prior to initial start-up, inject oil into
the inlet port.

GRAPH 2 STARTING TORQUE - PRESSURE

PRESSURE bar
T T | I I T T T
1 2 3 4 5 6 7 8 ‘
1 1 1 1 1 1 1 1
10 - 1) I — — T T T T
STARTING TORQUES vary between the minimum 1 1 13
9 and maximum levels shown. These depend on the 1 'y 4
“H inlet pressure. When designing for applications == -1 - - 12
where the minimum start torque requirement is /
s equal to the running torque (as for example on ! / o T
I hoists), the motor should be operated within the T T T
| | darker shaded area. This will ensure that the motor | | 1 Z_ Lotk Jddq0
£ 7. will always have adequate starting torque. / 1 1
. 1 1 1 [y I E
o 1 1 1 w
w SFE=Fa===1F 1= 4-—8:
1 1 1
3 g
(o] 5 1 1 L 7 o
g 1 1 1 (o]
= = =TT~ 1 rafe F
4 T T T T
1 1 < 1 1[5
L 1N A E i s IS
1 1 ‘Q\“% 1 1 I 1 .
1 L k‘\\/ 1 1 1 1 1
2 / -3
T 1 1 T T T 1 L]
- - J./I_HJ.___I.__J.___I.__I._..l__2
1 1 A 1 1 1 1 1 1
1 1 1 1 1 1 1 1 -1
1 1 1 1 1 1 1 1
0 0
0 10 20 30 40 50 60 70 8 9 100 110 120
PRESSURE PS.I.
GRAPH 4 CONSUMPTION - SPEED
80 T T | — T B PR — E—— —— p—— " < B
SPEED - The motor can be operated ’ 2
continuously in the areas covered by %% B
70 the graphs, but in certain 42
circumstances the operating envelope s
can be extended. Contact factory. / =
N S S R S I e A A A L
7 ga(
= y © =
©
P 7/‘///' T
& / -2
£ R i I S I y744 < --—20B
‘e [
€ w 0 N -
S LT =
3 I Y (i S AN .__.,Z__,A_ﬂ;;
2 N s Y A S
30 B
o =
9 55 ""y‘////"‘”/{"‘—”
[T / A 6/0 | —1
20 - 0L i
%/ »
10 g e e e e e = e (el 4
0 0

I LI T T T I 1 1 T T I 1
0 200 400 600 800 1000 1200 1400 1600 1800 2000 2200 2400
SPEED revs per min

GENERAL DATA

MASS (motor only) 13 kgs (28.7 lbs)

MOMEMT OF INERTIA of rotating parts 0.01 gm?
(motor only )

MAX OVERHUNG FORCE on motor shaft 445 N
(100 Ibf)

TEMPERATURE RANGE -20°C to +60°C (-4°F to
+140°F) / -10°C to +60°C (-14°F to +140°F) with
brake

Lubricator drop rate 3-4 drops/minute continuous operation

Lubricator drop rate 6-8 drops/minute intermittent operation

GLOBE PISTON AIR MOTOR BROCHURE - 5




Options RM110 | Brake

Why you need a brake for your RM110 Piston Air Motor
The combination of motor with brake is widely used for winches, cranes and positioning devices. The brake mo-
dule bolts directly onto the motor mounting face and has exactly the same interface as the motor.

Dimensions RM110 Brake

100 mm i OB mm 210 mm Brake line inlet compression
(Adjustable) fitting for 5/16" O/D tubing

s
['}
y

8 mm 30 mm
— |-

1 O
%

Brake spring adjusters Pilot air
connection

l‘_‘—__-__
— A
-
N 14.01 mm
Motor 14.00 mm
interface |~ Note - same mounting o
|| ] - w_interface as motor v
16.00 mm 130.00 mm
15.87 mm 12994 mm 4 holes 11 mm diameter
Mounting " Mounting spigot on 165 mm P.C.D.
5.00 mm DE()P— face Max. bolt length 28 mm
4.97 mm B 188 mm diameter flange

View on shaft end

With or without ATEX Certification

For ATEX it is important that there is no possibility for the brake to drag while the motor is running. This will cause
friction which will heat up the brake. The GLOBE Brakes for the Piston RM Air Motor series are available with or
without ATEX Certification for safe operations in hazardous environments. when used in an ATEX application, the
brake torque is pre-set by GLOBE to a maximum torque which belongs to the desired operating pressure of the
motor. The end-user has to inform GLOBE prior to the delivery about the (max.) operating pressure of the motor.
At this pressure the brake will be fully released. This is done by adjusting the GLOBE APPV3214 valve which is
integrated in the pneumatic control system. Whenever this system’s pressure drops to a lower amount than 20%
below the set release pressure, the valve closes and the brake will be blocked. This system prevents dragging of
the brake shoes while operating by (unnoticed) pressure drops or incorrect handling.

Any unauthorized adjustment will make ATEX invalid. Changing or adjusting the pneumatic system, including the
valves, which controls the brake will also make ATEX invalid.

6 - GLOBE PISTON AIR MOTOR BROCHURE




Spare Parts List Parking Brake

ltem Part No. Description Qty
01 802-052 Set Screw M10 x 20 4
03 808-090 Bonded Seal 1/4"BSP Dowty 2
04 816-004 Banjo Bolt Only 1/8 BSP 1
05 816-005 Banjo Bolt C/W/ Nut&Rin 5/16 1
06 112-001 Brake Wheel 1
07 806-001 Dowel Dia 10 x 30 Lg 2
09 112-008 Brake Housing 1
10 100-049 Shim - Output 5
1 100-035 RM100 Output Shaft Spacer 1
12 804-006 Circlip 19mm External 1
13 102-009 Brake Spring Adjuster 2
14 102-024 1/2" BSP Hex Nut 2
15 814-002 Spring 223612 2
16 802-016 Hex Head Screw M6 x 16 4
17 112-030 Piston Block Gasket 1
18 802-020 Hex Head Screw M6 x 20 2
19 808-072 U Packing U110 2
20 112-014 Piston Block 1
21 102-01 Brake Piston 2
22 112-013 Block Support Plate 1
23 802-012 Hex Head Screw M6 x 12 2
24 804-003 Circlip 14mm External 1
25 811-022 Key K123 5S¢ 1
26 112-901 Brake Shoe Assembly 2
27 112-005 Output Shaft 1
28 807-007 Ball Bearing 2
29 804-051 Circlip 47mm Internal 2
30 808-043 Oilseal 20x47x10/R4 1
32 112-003 Brake Shoe Pivot 2
33 804-121 Circlip 3/8" External Ander 2
34 7008G18 Breather plug 1/8 BSPP (ATEX Only) 1

GLOBE PISTON AIR MOTOR BROCHURE -7




Options RM110 | Gearbox

Why you need a gearbox for your RM110 Piston Air Motor

We can supply allour piston motors in combination with many different gearboxes. If you are looking for more
torque for a certain application, we can assist you by selecting the right kind of gearbox. Order your RM 110
Piston Air Motor in combination with a gearbox for higher torques and lower speeds.

Performance summary

Maximum Power Conditions Lo i, || e | Meevadius Weight
Gecr?ox _— Start torque | Cont. Force
Ratio kW | HP | RPM ! Gearbox | Adapter | Gearbox kit Moter &
Nm | IbfF. | Nm | IbfF. | RPM | N | Ibf. LD
4.77 1.2 1.6 440 23 17 28 20 498 1020 229 15.5 4.5 20 33
24.50 1.2 1.6 86 122 90 146 108 97 1990 447 15.5 4.5 20 33
50.00 1.2 1.6 42 250 185 300 221 48 4150 933 26 4.5 30.5 43.5
73.30 1.2 1.6 29 366 270 439 324 32 7690 1729 45 4.5 49.5 62.5
104.80 1.2 1.6 20 524 387 629 464 23 10820 2433 45 4.5 49.5 62.5
129.79 1.2 1.6 16 649 479 779 575 18 18925 4255 79 4.5 83.5 96.5
155.46 1.2 1.6 14 777 573 932 688 15 18925 4255 79 4.5 83.5 96.5
175.18 1.2 1.6 12 876 646 1051 776 14 18925 4255 79 4.5 83.5 96.5
213.64 1.2 1.6 10 1068 788 1282 946 n 18925 4255 79 4.5 83.5 96.5
256.86 1.2 1.6 8 1284 948 1541 Nn37 9 23515 5287 129 4.5 133.5 146.5

8 - GLOBE PISTON AIR MOTOR BROCHURE




Base mounted Gear Box Dimensions

J

L P
. M
- Y
ANe, 8 — _ox
e | T~
: O
O O T N
e 6 — 1 < '
|
1 @ i i I’H H1 i
B LT
C
C E
G
F
RANGE RATIO A B C D E F G H J L M P R T W X Y A MASS
90+4.00 60 130 110 75 160 145 184+4 495 53 40 188 9.8 20 50 25.01 8.00 28 33 kg
4.77 -24.5:1
3.5"+0.2" 24" 51" 43" 3.0" 63" 57" 74"+0.2" 19.5" 21" 1.6" 74" 0.4" 0.8" 20" 98" 03" 11" 7251b
ns 75 165 135 90 200 195 209 532 63 50 220 13.5 25 60 30.01 8.00 33 42 kg
27-56:1
4.5" 3.0" 6.5" 53" 35" 79" 77" 8.2" 209" 25" 20" 8.7" 0.5" 1.0" 24" 1.18" 0.3" 13" 9251Ib
ns 75 165 135 90 200 195 209 532 63 50 220 13.5 25 60 30.01 8.00 33 43.5 kg
56-61:1
4.5" 3.0" 6.5" 53" 35" 79" 77" 8.2" 209" 25" 20" 8.7" 0.5" 10" 24" 1.18" 0.3" 13" 96 b
140 95 205 170 N5 245 235 290 601 84 70 263 17.5 30 80 40.01 12 43 62.5kg
60 - 88.59:1
5.5" 3.7" 81" 67" 45" 96" 93" 1n.4" 23.7" 3.3" 28" 104" o0.7" 12" 31" 1.58" 0.5" 17" 137 Ib

Flange mounted Gear Box Dimensions

| J
D
N
w
¥ Y
8 M @ X
e A
[ ?B @A f
z
(a]
®
RANGE RATIO A B C D E J K M N % X Y Z  MASS
200 130.00 1 12 165 495 50 40 35 50 2501 800 28  33kg
4.77 - 24.5:1
79" 512" 04" 047" 65" 195" 20" 16" 01" 20" 98" 03" 11" 725Ib
250 180 13.5 15 215 532 60 50 4 60 30.01 8.00 33 42 kg
27-56:1
9.8" 709" 05" 06" 85" 209" 24" 20" 02" 24" 118" 03" 13" 925b
250 180 135 15 215 532 60 50 4 60 3001 800 33 435kg
56-61:1
9.8" 709" 05" 0.6" 85" 209" 24" 20" 02" 24" 118" 03" 13" 9lb
300 23005 135 16 265 610 80 70 4 80 4001 120 43 62.5kg
60 - 88.59:1

11.8" 9.06" 05" 0.6" 104" 240" 31" 2.8" 0.2" 31" 1.58" 0.5" 17" 1371b

GLOBE PISTON AIR MOTOR BROCHURE - 9




Options RM110 | Control Valve

Why you need a control valve for your RM110 Piston Air Motor

Control valves allow you to change the speed and direction of the motor, they are mounted directly onto the air
motor. This range of bolt on valves offers very sensitive speed and directional control. One frictionless matched
spool and sleeve assembly is offered with two alternative means of actuation.

Configuration

As standard these valves can be supplied with either EQUAL POWER OR BIASED POWER spools, the latter is
suitable for hoisting applications (normal power for lifting - reduced power for lowering).

The direction of reduced power must be stated when ordering CW or CCW, when viewed on the output shaft of
the motor.

Hand Controlled (HCV) - The control valve spool is operated directly by a lever mechanism. Speed increase is
obtained as the lever is moved in either direction from the centre (neutral) position.

Remotely Controlled (RCV) - This option is usually controlled from a remote position by one of the PC series or
LC2 remote controllers. A variable air pilot signal is applied to either end of the valve spool, depending on the
required direction of motor rotation. The pilot pressure range is between 1.4 bar (20 psi) and 4.8 bar (70 psi),
increased pilot pressure gives increased speed. The valve is spring centred to neutral.

Pressure Drop - Minimal pressure drop will be experienced through the valves, having the effect of
maintaining the output torque whilst reducing the motor output speed by approximately 10-15% at 6 bar (90 psi)
at maximum power. The starting torque remains unaffected.

Dimensions
HAND CONTROL VALVE
= 270 mm _ 61 mm
O QO e |
. N N Inlet port Port| Datum )
,/ 112'BsP 163 mm
LA?$¢ IS L E—
84 mm
VLA T Q D
Operating lever can be| (—~ ‘ = Y vy Port
fitted on either end =2 st port _ Face
61 mm tn
< > 21 mm
e 210 mm - Port| Datum
REMOTE CONTROL VALVE Inlet port 118 mm 61 mm

:

A=

| r

Motor centre line —i One pilot port each end 1/4" BSP Mounts onto
Caps may be positioned with port motor port face
at top, bottom or either side

0. EI ;
T[] _—Q i
\1

10 - GLOBE PISTON AIR MOTOR BROCHURE




Spare Parts List Hand Control Valve

Part No. Description Qty

01 111-066 End Cap Gasket

02E  1M1-913 Matched Spool and Sleeve
02B  111-914 Matched Spool and Sleeve
4 817-003 Shoulder Screw 8 mm

5 111-071 Centering Shaft Guide

6 802-016 Hex Head Screw M6 x 16
7
8
9

(Equipower)
(Biased)

111-065 End Cap - Plain End
808-027  ORing 27,5x 30
111-060 Valve Body

10 111-068 Valve Sleeve Spacer

1 111-072 Washer, Spring Centering

12 814-016 Spring 323714

13 111-064 End Cap - Spring End

14 113-041 Lever Cap

15 802-024  Hex Head Bolt M6 x 50

16 113-024 Toggle Shaft

17 113-026 Toggle Pin

18 113-008 Hand Lever Pivot

19 113-002 Hand Lever

20 818-003 Black Plastic Knob 31 mm

21 804-013 Circlip 20mm External

22 815-010 Grub Screw M8 x 10

23 815-002 Grub Screw M8 x 16

24 816-063 Plug 1/8" BSPT Sq. Head

26 113-050 Vent Plug

W= =N e N e O = O = — = — N

Spare Parts List Remote Control Valve

Item  Part No. Description Qty

01 1M1-066  End Cap Gasket 2

02E  111-913 Matched Spool and Sleeve 1 (Equipower)
02B 111-914 Matched Spool and Sleeve 1 (Biased)

4 817-003  Shoulder Screw 8 mm 1
5 111-071 Centering Shaft Guide 1
[¢) 802-016  Hex Head Screw M6 x 16 8
7
8
9

111-065 End Cap - Plain End 1
808-027  ORing 27,5 x 30
111-060  Valve Body

10 111-068  Valve Sleeve Spacer

1 m-072 Washer, Spring Centering

12 814-017  Spring D13040

13 111-064  End Cap - Spring End

14 816-049  Elbow M/F 1/8" BSPT

15 816-063  Plug 1/8" BSPT Sq. Head

GLOBE PISTON AIR MOTOR BROCHURE - 11




Spare Parts List RM110

-
/-/ RM110 Conversion Kit
Original Slipper Rod design.
Use Conversion Kit To
Update To King Rod Design

ltem Part No. Description Qty Kit No. ltem Part No. Description Qty Kit No.
01  807-020 Rotary Valve Bearing (Outer) 1 36 811-016 Woodruff Key 1

02 130-006 Rotary Valve 1 37 802-020  Cylinder Bolts 16

03 130-011 Rotary Valve Housing 1 38 802-020  Valve Housing Bolts 4

04 807-021 Rotary Valve Bearing (Inner) 1 40 802-020  Adaptor Plate Bolt 4

05 804-051 Rotary Valve Bearing Circlip 1 41  802-016  Exhaust Cover Bolts 2

06 100-001 Rotary Valve Housing Gasket  1*  139-911 44 100-040  Dipstick (vertical mounting) 1

07  110-030 Cylinder Gasket 4*  139-91 45 808-004  Seal (transit only) 1

08 110-082 Cylinder 4 46  130-066  Breather Plug 1

09 130-902 Piston Assembly 4 48 807-042  Needle Bearing 1

10 100-024 Compression Ring 4*  139-91 49  815-012 Grub Screw 1

11 100-022 Oil Control Ring 4*  139-91 50  811-002 Key 1

12 140-077 King Rod 1 51A 130-005  Rotary Valve Exhaust Cover BSP 1

13 140-013 Crankshaft Spacer 1 51B  130-105  Rotary Valve Exhaust Cover NPT 1

14 804-006 Crankshaft Circlip 1 52 810-003  Flange Bolt 8

15 100-035 Crankshaft Spacer 1 55 807-007  Output Shaft Bearing (Outer) 1

16 100-049 Crankshaft Spacer Shim 5 56 807-007  Output Shaft Bearing (Inner) 1

18 804-051 Crankshaft Bearing Circlip 2 60  816-063  Qil Level Plug 1

19 808-043 Crankshaft Oilseal 1 139-91 72A 130-003 Inlet Adaptor Plate BSP 1

20 110-901 Std. Crankshaft Assembly 1 72B 130-103 Inlet Adaptor Plate NPT 1

24 130-076 Std. Flange Plate 1 73 130-004 Inlet Adaptor Plate Gasket 1% 139-91
25 808-033 Flange Plate Seal 1* 139-91 75 808-008  Dipstick Seal 1% 139-911
26 816-074 Plug 1 139-91 RM110 Seal Kit 1

27 130-012 Engine Case 1 149-920 Conversion Kit

29 140-081 Queen Rod Pivot 3

30 140-078 Queen Rod 3

31 140-052 Crank Spacer SELECT 1 149-920

32 140-053/ Crank Spacer ON 1 149-920

33 140-054/055 Crank Spacer *ASSEMBLY 1 149-920 _ ; .

34 140-056 Crank Spacer 1 149-920 ]C49 920 C°f".‘t’er5'°{‘2'<']’é 20 30. 31.34 and 48. These it
35 130-010 Balance Weight 1 omprises of items 12, 13, 29, 30, 31-34 an . These items

may be used to convert a motor from the original design to the
king rod design. If unit is pre 1990 supplied, consult manufac-
turer to confirm design.

12 - GLOBE PISTON AIR MOTOR BROCHURE




RM210 Piston Air Motor

4 kW / 5.4 H.P.

Why buy RM210

Our RM210 Piston Air Motors have a power range of 4 kW (5.4 HP) with 20Nm (14.7 lbs ft.) torque at max.
power. Our piston air motors are designed to develop geater power than other motors of equivalent size. These
piston motors can be completed as desired with various accessories such as brakes, (control) valves and gear-

boxes.

Dimensions RM210

254 mm dia.

4 holes Flange
14 mm dia. X .
on215mm p.c.0. Ol Drain Plug

(Level Plug Vertical Mounting)

Dimensions RM210 + Foot Bracket

P 232 mm P 93 mm
Inlet & Secondary 4.0 mm Circlip Groove
Exhaust Adaptor Plate i e B
2 Ports Tapped 3/4" BSP 40 mm
(deleted when using e 36 mm
valve options)
19 mm
Primary | I 18D mm
Exhaust ¢
- —  85mm
| | Y
Port Tapped \ 4
1" BSP — L— 38 mm

Qil Level Plug
(Horizontal mounting)

Arrows show direction of rotation

with airflow direction as shown

(Reverse port connections A & B

for opposite rotation)

232 mm

L] Effective
— 6 mm
Square Key

Mounting Face

s

N Inlet & Secondary
Exhaust Adaptor Plate

Circlip Groove

Breather 2 Ports Tapped 3/4" BSP 3 le— 40 mm
(deleted when using ::‘ le— 36 mm
19 mm
Primary ’ ! 180 mm
Exhaust i 85
" lmm
‘ .
180 mm Port Tapped
centre height 1" BSP o] | le—33mm
Effective
Qil Level Plug — 6mm
(Honzontal mounting) Square Key
42 mm
¢ n\ Ammows show direction of rotation
190 mm T with airflow direction as shown
’ I 2 holes (Reverse port connections A & B
l< 280 mm .l 18 mm diameter for opposite rotation)

Plan - Foot bracket fixing hole details

GLOBE PISTON AIR MOTOR BROCHURE - 13




Gearbox ratio: None

Maximum speed: 2400 RPM
No Control Valve fitted

Reading Graphs - Scales have been adjusted to enable bar and psi to be read from a common curve.
Therefore only read psi with the left hand axis and bar with the right hand axis.

GRAPH 1 TORQUE - SPEED

30 T T T T T T
28 SPEED - he motor can be operated =
continuously in the areas 1
" RS TIT T 7 717 [T 1 graphs, but in certain circumstances the |~
26 operating envelope can be extended. -
o Contact factory.
\ -30
22 ™ \\7?0'°SIT
T e A o S D T Shee p P R o
y 20 Q B
B e S b e Bt i e iyt i it e £
§ ™~ \90\ \06 | Z
m e ~ Q S Lg
- - Oy e e RS == =& = 420
8 14 -~ ] 8 \‘\ i )
812--._--&_570 __\_{83'_ >R e
=
7 S AN
8__ _"'h\ﬂ'50\ _E}K_\ N-
i —-10
6 40| T \>
\\ \\_
4__ U [ A PR N (N o S
2 |—
0 1 1 1 1 1 1 1 1 1 1 1 1 0
0 200 400 600 800 1000 1200 1400 1600 1800 2000 2200 2400
SPEED revs per min
GRAPH 3 POWER - SPEED
6.0 ‘
s ———p — 1+ "'833;—'_4'0
5.0 o) ]
y/ %
- =1 === = = 7= -|- ~q /S E=EEEEs SESE >
45 /" >
O
40—=1 o ofmm|o oo S o= ---GBar_-_s'o
S
E 35 @’/ Y 3
Sod] S ) [y )T A R T R (W —2.5
@] / 20 = ™~ ;
o
3.0 w
o |- ____//_ DAL E—z.o%
&2 0 PS> IBar— &
T / ] ™
20 ~1 50 -15
/' | ——1 I~
=
15 A 40
I 7//4__7,4____.__3,‘_-—1-0
1.0 7 PEAK POWER is developed at 1800 r.p.m. and |
// it is desirable that the motor's continuous 05
05— =1 1~ — " = | = 1 operating conditions are as close to this as e
) possible, since this gives optimum performance
and air consumption.
0 L L L L T e e e e e e s e s s e s 0

T T T T T T T
0 200 400 600 800 1000 1200 1400 1600 1800 2000 2200 2400
SPEED revs per min

LUBRICATING OIL CAPACITIES

Horizontal 330ml Vertical 450ml

Use a goood quality hydraulic oil with a viscosity of around
100cSt (460SSU) at 40°C (104°F)

AIRLINE FILTRATION AND LUBRICATION

Use 64 micron filtration or better. Choose a lubricator suita-
ble for the flow required. Prior to initial start-up, inject oil into
the inlet port.

GRAPH 2 STARTING TORQUE - PRESSURE

PRESSURE bar
I I I I I T I T
1 2 3 4 5 6 7 8 ‘
1 1 1 1 1 1 1 1
35 T —T—T—TT IT T T T
STARTING TORQUES vary between the minimum 1 L 1 tbas
] and maximum levels shown. These depend onthe |~ [~ =, 7 = ~|Z/7 [ * ]
inlet pressure. When designing for applications /
30 —H where the minimum start torque requirement is | 1 1
 equal to the running torque (a ample on - '/- F-rHd40
hoists), the motor should be operated within the 1 1
darker shaded area. This will ensure that the motor d 1 1
& 25wl always have adequate starting torque. g = mlm = k= 35
< €
w 1 [ 1 1 O 1 1 1 =
] P N R R T
w 1 [ 1 1 «O/ 1 1 1 1
S5 20 2
1 [ 1 Q, 1 1 1 o
o] & 25
it e B il | il I el b2\ --r---|""7 1 ©
g 1 [ 1 «vg" 1 1 1 Q/ 1 9
R L EEEE Y CEl e e e 2
1 [ D 1 ' "/ 1 1
I o I ng I I I
I R - I =0\ > o T I R [ M S
10 1 |;/ 1 “‘\)\‘\(3/ 1 1 1 1
1 \/ 1 1 1 1
W 10
- = 177, I'__/—_I'-_l'__-l'__l""1"
5 1 |// 1 1 1 1 1 1
L -4 JEIBE = o L o= =l e e -5
1 /'I 1 1 1 1 1 1
/ [ 1 1 1 1 1 1
0 0

0 10 20 30 40 50 60 70 80 90 100 110 120
PRESSURE PSI

GRAPH 4 CONSUMPTION - SPEED

240 — 110
g‘a
20FE md e n|m b ad - __.______.}zéz—mo
200 ——— _ A ;‘_ < o0
1804 «
IR i L 1. 682~ - }s80
N 16 A
© 160
8 F-1- L~ -8
'3-;140-— L g
E _— - 7 A;“a‘_ f—so 2
L2 == £
:g BEdis Z__74—50;
O 100 — o)
; L // 40i
Q &
[
- - Lodliodkolb o dn)
60+
401 7 - = e 20
Z
20 4= ~ R S e e I s e o [1]
0 | 1 1 1 Il 1 1 1 1 1 1 1 0

0 200 400 600 800 1000 1200 1400 1600 1800 2000 2200 2400
SPEED revs per min

GENERAL DATA

MASS (motor only) 26 kgs (57.3 Ibs)

MOMEMT OF INERTIA of rotating parts 0.56 gm? (motor
only )

MAX OVERHUNG FORCE on motor shaft 820 N (200 Ibf)
TEMPERATURE RANGE -20°C to +60°C (-4°F to +140°F)
/ -10°C to +60°C (-14°F to +140°F) with brake

Lubricator drop rate 4-5 drops/minute continuous operation

Lubricator drop rate 8-10 drops/minute intermittent operation

14 - GLOBE PISTON AIR MOTOR BROCHURE




Options RM210 | Brake

Why you need a brake for your RM210 Piston Air Motor
The combination of motor with brake is widely used for winches, cranes and positioning devices. The brake mo-
dule bolts directly onto the motor mounting face and has exactly the same interface as the motor.

Dimensions RM210 Brake

115 mm g 23 MM _ 235 mm Brake line inlet compression
b - (Adjustable) fitting for 5/16" O/D tubing

A

11 mm 46 mm
—

Wiin PR I e

—

Brake spring adjusters Pilot air
connection

T
R
T

o
?

I
] 3
|
™ 19.01 mm
_Motor 18.99 mm
interface j—_‘ Note - same mounting
—_ interface as motor W
I ]
21.50 mm 180.00 mm
21.27 mm\ P 17994 mm 4 holes 14 mm diameter
Mounting - Mounting spigot o on 215 mmP.C.D.
6.00 mm D©|‘_ face Max. bolt length 25 mm
5.97 mm P 254 mm diameter flange

View on shaft end

With or without ATEX Certification

For ATEX it is important that there is no possibility for the brake to drag while the motor is running. This will cause
friction which will heat up the brake. The GLOBE Brakes for the Piston RM Air Motor series are available with or
without ATEX Certification for safe operations in hazardous environments. when used in an ATEX application, the
brake torque is pre-set by GLOBE to a maximum torque which belongs to the desired operating pressure of the
motor. The end-user has to inform GLOBE prior to the delivery about the (max.) operating pressure of the motor.
At this pressure the brake will be fully released. This is done by adjusting the GLOBE APPV3214 valve which is
integrated in the pneumatic control system. Whenever this system’s pressure drops to a lower amount than 20%
below the set release pressure, the valve closes and the brake will be blocked. This system prevents dragging of
the brake shoes while operating by (unnoticed) pressure drops or incorrect handling.

Any unauthorized adjustment will make ATEX invalid. Changing or adjusting the pneumatic system, including the
valves, which controls the brake will also make ATEX invalid.

GLOBE PISTON AIR MOTOR BROCHURE - 15




Spare Parts List Parking Brake

Part No.

802-072
808-090
816-004
816-005
212-001
806-001
811-001
222-008
300-049
300-035
804-009
102-009
102-024
814-001
802-016
212-030
802-025
808-075
212-014
202-01
212-013
802-012
804-006
212-901
212-005
807-008
804-058
808-044
212-003
804-002
7008G18

Description

Set Screw M10 x 20

Bonded Seal 1/4"BSP Dowty

Banjo Bolt Only 1/8 BSP

Banjo Bolt C/W/ Nut&Rin 5/16

Brake Wheel

Dowel Dia 10 x 30 Lg
Key 6 Sq.x30mm (K124)
Brake Housing

Shim - Output

Output Shaft Spacer
Circlip 27mm External
Brake Spring Adjuster
1/2" BSP Hex Nut
Spring 223712

Hex Head Screw M6 x 16
Piston Block Gasket

Hex Head Screw M6 x 25
U Packing U110

Piston Block

Brake Piston

Block Support Plate

Hex Head Screw M6 x 12
Circlip 19mm External
Brake Shoe Assembly
Output Shaft

Ball Bearing

Circlip 62mm Internal
Oilseal 30x62x10/R4
Brake Shoe Pivot

Circlip 11'mm External

Breather plug 1,/8 BSPP (ATEX Only)

Qty

NN =NN=N=N=N=NN—=ANNN—=—O—=—=N—=—=—=NN

16 - GLOBE PISTON AIR MOTOR BROCHURE




Options RM210 | Gearbox

Why you need a gearbox for your RM210 Piston Air Motor

We can supply allour piston motors in combination with many different gearboxes. If you are looking for more
torque for a certain application, we can assist you by selecting the right kind of gearbox. Order your RM210
Piston Air Motor in combination with a gearbox for higher torques and lower speeds.

Performance summary

Maximum Power Conditions Approx. Min: Max' | Max overhung Weight
Geur?ox Toraue Start torque Cont. Force
Ratio kW | HP | RPM : Gearbox | Adapter | Gearbox kit Motor &
Nm | Ibf.Ft | Nm | IbfF. | RPM | N | Ibf. Gearbox
515 3 4 369 77 57 93 68 461 2350 528 30 10 40 66
25.55 3 4 74 383 283 460 339 93 3380 760 47 10 57 83
49.42 3 4 38 741 547 890 657 48 14060 3161 79 10 89 15
74.88 3 4 25 123 829 1348 995 32 16330 3671 79 10 89 15
105.08 3 4 18 1576 1163 1891 1396 23 20860 4690 129 10 139 165
126.90 3 4 15 1904 1405 2284 1686 19 23515 5287 129 10 139 165
148.99 3 4 13 2235 1649 2682 1979 16 26070 5861 194 10 204 230
171.62 3 4 n 2574 1900 3089 2280 14 31220 7019 194 10 204 230
201.22 4 9 3018 2228 3622 2673 12 36770 8267 194 10 204 230
254.70 3 4 7 3821 2820 4585 3383 9 38930 8752 312 10 322 348

GLOBE PISTON AIR MOTOR BROCHURE - 17




Base mounted Gear Box Dimensions

P
L
M z
2 X
1
{
Y
R
o
B
C E
[ T
F
[
RANGE RATIO A B C D E F G H J L M P R T W X Y z MASS
115+10.00 75 165 135 90 200 195 250 607 63 50 250 13.5 25 60 30.01 8.00 33 65.5 kg
4.77 - 24.5:1
45%04" 30" 65" 53 35 79" 77 98 239" 25 20° 98 05 10° 24' 118 03 13 144l
140 96 205 170 ns 245 235 290 657 84 70 263 17.5 30 80  40.01 12.0 43 82.5kg
27-56:1
55" 3.8" 81" 67" 45" 96" 93" 114" 259" 33" 28" 104" 07" 12" 31" 158" 0.5" 1.7" 182 b
180 15 260 215 140 310 290 364 764 104 80 332 17.5 45 100 50.01 14 53.50 15 kg
56 -61:1
71" 4.5" 102" 85" 55" 122" 114" 143" 301" 41" 31" 131" 07" 18" 39" 197" 0.6" 21" 254 1b
225 132 310 250 160" 365 340 445 810 125 100 410 22 50 120 60.02 18 64 165 kg
60 -88.59:1
8.9" 519" 122" 98" 63" 144" 134" 175" 270" 49" 49" 161" 09" 2.0" 47" 236" 07" 2.5" 364 1b

Flange mounted Gear Box Dimensions
J

D
N
z
W__| ox
M
2B @A {
Y
K
RANGE RATIO A B C D E J K M N W X Y z MASS
250 18000 135 15 215 607 60 50 4 60 30.015 8.0 33 33 kg
4.77 - 24.5:1
9.8" 71" 05" 06" 85" 239" 24" 20" 02" 24 118" 03" 13" 725l
350 250.00 175 16 300 658 80 70 4 80 40 12 43 42 kg
27-56:1
13.8" 98" 07" 62 11.8" 259" 31" 28" 02" 31" 158" 05 17" 925Ib
350 25000 175 18 300 743 100 80 5 100 50.01 14 535 435kg
56-61:1
13.8" 98" 07" 07 11.8" 293" 39" 31" 02" 39" 197" 06" 21" 96 b
350 25000 175 18 300 803 120 100 5 100 60.02 18 64  625kg
60 - 88.59:1

13.8" 9.8" o7" 07" mn.8" 316" 47" 39" 02" 39" 236" 07" 25" 137 Ib

18 - GLOBE PISTON AIR MOTOR BROCHURE




Options RM210 | Control Valve

Why you need a control valve for your RM210 Piston Air Motor

Control valves allow you to change the speed and direction of the motor, they are mounted directly onto the air
motor. This range of bolt on valves offers very sensitive speed and directional control. One frictionless matched
spool and sleeve assembly is offered with two alternative means of actuation.

Configuration

As standard these valves can be supplied with either EQUAL POWER OR BIASED POWER spools, the latter is
suitable for hoisting applications (normal power for lifting - reduced power for lowering).

The direction of reduced power must be stated when ordering CW or CCW, when viewed on the output shaft of
the motor.

Hand Controlled (HCV) - The control valve spool is operated directly by a lever mechanism. Speed increase is
obtained as the lever is moved in either direction from the centre (neutral) position.

Remotely Controlled (RCV) - This option is usually controlled from a remote position by one of the PC series or
LC2 remote controllers. A variable air pilot signal is applied to either end of the valve spool, depending on the
required direction of motor rotation. The pilot pressure range is between 1.4 bar (20 psi) and 4.8 bar (70 psi),
increased pilot pressure gives increased speed. The valve is spring centred to neutral.

Pressure Drop - Minimal pressure drop will be experienced through the valves, having the effect of
maintaining the output torque whilst reducing the motor output speed by approximately 10-15% at é bar (90 psi)
at maximum power. The starting torque remains unaffected.

Dimensions

HAND CONTROL VALVE
270 mm 61 mm

O _ 118 mm _
B Inlet port

f 3/4" BSP
=\

/= i
LA T Ai
84 mm
) L] ¥ Y Port
Operating levercan b O Exhaust port Face

Y
Y

Lt

4

Port| Datum

162 mm

-

FQ

O
)
N

-

fitted on either end 3/4" BSP
61 mm
- - 21 mm
- 210 mm . Port| Datum
REMOTE CONTROL VALVE Inlet port ~ 118 mm _ 81 mm
3/4"BSP Secondary exhaust
(P port 3/4" BSP 7 i
AN A ]
IL L 4L 84
mm
RN A o D
— O |
¥
Motor centre line —» One pilot port each end 1/4" BSP M:}mts onto

Caps may be positioned with port

t rt f;
at top, bottom or either side molor port tace

GLOBE PISTON AIR MOTOR BROCHURE - 19




Spare Parts List Hand Control Valve

Part No. Description Qty
01 1M1-066  End Cap Gasket

2
02E  221-913  Matched Spool and Sleeve 1 (Equipower)
02B  221-914  Matched Spool and Sleeve 1 (Biased)
4 817-003  Shoulder Screw 8 mm 1
5 11-071 Centering Shaft Guide 1
6 802-016  Hex Head Screw M6 x 16 6
8 808-027 ORing 27,5 x 30 6
9 221-060  Valve Body 1
10 111-068  Valve Sleeve Spacer 1
1 111-072  Washer, Spring Centering 1
12 814-016 Spring 323714 1
13 111-064  End Cap - Spring End 1
14 113-041 Lever Cap 1
15 802-024 Hex Head Bolt M6 x 50 2
16 113-024  Toggle Shaft 1
17 113-026  Toggle Pin 1
18 113-008  Hand Lever Pivot 1
19 113-002  Hand Lever 1
20 818-003  Black Plastic Knob 31mm 1
21 804-013  Circlip 20mm External 2
22 815-010  Grub Screw M8 x 10 1
23 815-002  Grub Screw M8 x 16 1
24 816-063  Plug 1/8" BSPT Sq. Head 3
26 113-050  Vent Plug 1
Spare Parts List Remote Control Valve
Part No. Description Qty
1M-066  End Cap Gasket
M-913 Matched Spool and Sleeve (Equipower)
11-914 Matched Spool and Sleeve (Biased)

817-003  Shoulder Screw 8 mm
m-071 Centering Shaft Guide
802-016  Hex Head Screw M6 x 16
1M1-065  End Cap - Plain End
808-027 ORing 27,5 x 30
1M1-060  Valve Body

111-068  Valve Sleeve Spacer
1m-072 Washer, Spring Centering
814-017  Spring D13040

111-064  End Cap - Spring End
816-049  Elbow M/F 1/8" BSPT
816-063  Plug 1/8" BSPT Sq. Head

20 - GLOBE PISTON AIR MOTOR BROCHURE

Wttt e d ON = 00— — N




Spare Parts List RM210

Part No.

807-020
230-059
230-011
807-021
804-051
200-001
210-030
210-082
230-902A
200-024
200-022
230-077
230-013
804-009
300-035
300-049
804-058
808-044
230-915
230-076
808-028
816-071
230-012
230-081
230-078
230-052
230-054/055
230-056
230-010

Description

Rotary Valve Bearing (Outer)

Rotary Valve
Rotary Valve Housing

Rotary Valve Bearing (Inner)
Rotary Valve Bearing Circlip
Rotary Valve Housing Gasket

Cylinder Gasket
Cylinder

Piston Assembly
Compression Ring

Qil Control Ring

King Rod

Crankshaft Spacer
Crankshaft Circlip
Crankshaft Spacer
Crankshaft Spacer Shim
Crankshaft Bearing Circlip
Crankshaft Oilseal

Std. Crankshaft Assembly
Std. Flange Plate

Flange Plate Seal

Plug

Engine Case

Queen Rod Pivot

Queen Rod

Crank Spacer SELECT
Crank Spacer ASSEMBLY
Crank Spacer

Balance Weight

Q
<

*

*

*

*

*

*

e C WW e e N = — = = A NMNDMDAMDN o oo

Kit No.

239-911
239-911

239-911
239-911

239-911

239-911

ltem  Part No.

36 811-010
37 802-032
38 802-033
40 802-020
41 802-016
44 200-040
45 808-004
46 130-066
48 807-048
49 815-001
50 811-001
51A  230-005
51B  230-105
52 810-001
55 807-007
56 807-008
60 816-063
72A  230-003
72B  230-103
73 130-004
75 808-008
239-911
80 230-060

If unitis pre 1990 supplied, consult manufacturer to confirm design.

Description

Woodruff Key
Cylinder Bolts
Valve Housing Bolts
Adaptor Plate Bolt
Exhaust Cover Bolts
Dipstick (Vertical Mounting)
Seal (Transit Only)
Breather Plug
Needle Bearing
Grub Screw

Key

Rotary Valve Exhaust Cover BSP
Rotary Valve Exhaust Cover NPT

Flange Bolts

Output Shaft Brg. (Outer)
Output Shaft Brg. (Inner)
Oil Level Plug

Inlet Adaptor Plate BSP
Inlet Adaptor Plate NPT
Inlet Adaptor Plate Gasket
Dipstick Seal

RM210 Seal Kit

Rotary Valve Spacer

Qty

— = N0 —— —= =N ——= = NNN— —

N — o —

o

* %

Kit No.

239-911
239-911

GLOBE PISTON AIR MOTOR BROCHURE - 21




RM310 Piston Air Motor

7,5 kW / 10.2 H.P.

Why buy the GLOBE RM310 Piston Air Motor

Our RM310 Piston Air Motors have a power range of 7,5 kW (10.2 HP) with 47 Nm (34.6 Ibs ft.) torque at max.
power. Our piston air motors are designed to develop geater power than other motors of equivalent size. These
piston motors can be completed as desired with various accessories such as brakes, (control) valves and gear-

boxes.

Dimensions RM310

on 265 mm P.C.D.

(Level Plug Vertical Mounting)

286 mm

A
¥
[

Inlet & Secondary
Exhaust Adaptor Plate

Arrows show direction of rotation
with airflow direction as shown
(Reverse port connections A & B

Circlip Groove

Breather 2 Ports Tapped 1_" BSP a 50 mm
(deleted when_ using L 48 mm
valve options)
ﬁi ‘ F
22 mm
: 230 mm
Primary ‘ Iy
Exhaust e l i _{
> 96|mm
‘ /’Jﬁ ‘ Y
£
Port Tapped r
1.25" BSP — 44 mm
305 mm dia. = Effective
4 holes Flange Qil L_evel Plug ) — 6mm
14 rm dia. | ) (Horizontal mounting) Square Key
Qil Drain Plug Mounting Face

Dimensions RM310 + Foot Bracket

for opposite rotation)

Filller /

-t

286 mm

¥
i

h Inlet & Secondary

Circlip Groove

Exhaust Adaptor Plate

Breather 2 Ports Tapped 1" BSP e
(deleted when using
valvg options) @
Primary jﬂi
Exhaust o \4' i
f’f
=
215mm Port Tapped
centre height 1.25" BSP
Qil Level Plug I'L
(Horizontal mounting)
52 mm
[ .g\ T Arrows show direction of rotation
228 mm with airflow direction as shown
2 holes (Reverse port connections A & B
330 mm

20 mm diameter

for opposite rotation)

4— 50 mm

::‘ [— 46 mm

22 mm
|
F )

o
‘f v

T

23p mm

t— 44 mm
Effective

——6mm
Square Key

Plan - Foot bracket fixing hole details

22 - GLOBE PISTON AIR MOTOR BROCHURE




Gearbox ratio: None Maximum speed: 2400 RPM
No Control Valve fitted

Reading Graphs - Scales have been adjusted to enable bar and psi to be read from a common curve.
Therefore only read psi with the left hand axis and bar with the right hand axis.

GRAPH 1 TORQUE - SPEED GRAPH 2 STARTING TORQUE - PRESSURE
Ly T T T T T T PRESSURE bar
| SPEED - The motor can be operated T T T T T T T T
55 8 continuously in the areas covered by the | 1 2 3 4 5 6 7 8
| - _ﬁe\ar_ — o = |~ - graphs, butin certain circumstances the || 7 i : i :: : : i :1 I: : : 1
50 N operating envelope can be extended. STARTING TORQUES vary between the minimum . E L
~ Contact factory. 60 - and maximum levels shown. These depend /
é vn. - pend on the T T T
\\ \Iéo | - inlet pressure. When designing for applications Fr=T- —;/ . 80
45 — N9 60 || where the minimum start torque requirement is i J B
— \ 7 4 equal to the running torque (a ample on I J 1
I~ ) | hoists), the motor should be operated withinthe |- |- - £/ —|& = L 4 4 79
40 —_ 6 Ba, 7 N 50 1 darker shaded area. This will ensure that th 1 1
= - = - -\< - oo =AN\~F = ==[=-=¢t+ =250 £ £ will always have adequate starting torque. 1 1 ' I £
w 35 ~90 ) = =+ A== =i = =[= =t} = F=+4~-=[F=-F 460
2 T ‘\ps/ = 2 1 1 1 1 \)V 1 I 1 =
—_—— \ w 40 Q.O‘/ w
g30 \80 40 D |.|:J __ I___I___I___!«o/l__I___I__I__SOD
3 I e PR N N\ g o T S b S
g 25 4 Bar \\ e g 30 L 1 1 «Q‘S\/ 1 1 - 1 m 9
= L~ - o[ m =80 pg; - > NN - 430 = e e Ol "7y T e A T
20 - 5\05’\ \\\\\ ' ) \2\?6/ : ot e~ IR
"
== 4\0\ [ \ 20--”J,'__gv-.\bs,___;‘m?z‘\\\e/_-:'--:—-'J‘-—SO
15 == _—=l== = d L E == = = 20 -
\\\ I~ \ 1 |/ '\“\)\,‘\3 1 1 1 1 0
10 1 [ \1\\/ 1 1 1 1 L
== CHEo | RPE g e oE = ----——-—-xw—10 10__ '___'Z‘_'___‘ | | 1__ L 1
5 oA T 1 r | < 10
0 1 L L 1 1 Il L | 1 L | 1 0 0 : I I 0 I I 4 0 0
0 200 400 600 800 1000 1200 1400 1600 1800 2000 2200 2400 0 10 20 30 40 50 60 70 80 90 100 110 120
SPEED revs per min PRESSURE PSI
GRAPH 3 POWER - SPEED GRAPH 4 CONSUMPTION - SPEED
12 - 440 200
P! R (| I e e e | B e e e A B B
L 884 I 4°°----———-—----—_—------&/(- 180
10 \ -~ ™ - y / B
IS Iy B Py 5 5= = N e I s T T A
9 NN g . I
\,\0 / 6 Bar N & 320 QQ} 10
R ™ Syt Sy R e =~ = | -6 c ek L e I L o = A7 L -
. // \00 — ~ N s % / / o2 /_ N
[+ 4 \ L — -
w / QQ/% L _\\ d\'_‘ B B [ B | ,\\_/ _./__74_1203
= === AA = ~=}5 = = ) $
o NS = L x z o0 =
w 4 / 4 Bar \ w o e e P '0' - ’35‘7"‘1000
NEED/Zco=ancnd B e
05 ?c-\/ N =8 s S R [ -/;/.10 \_Z‘_ (-___808
* /,/ 60/0 s A R N 3 D160 // o // R
4= = = - - A - BIEEIEEN = == =y = o %)
/6 | -4 __.__/-/.7(._/5/0{744__-___50
/ O 120 ()
RT3 P kol e e A 8 v i
] 24 S— Z %z 7] Slhodleaaolbadl o oo o b o
2 //,/ PEAK POWER is developed at 1800 r.p.m. and H~ E e Z r
)// it is desirable that the motor’s continuous / // B
__'//'_' | operating conditions are as close to this as 11 40 ==+ 77l N R N N R S [ R N T
1 v possible, since this gives optimum performance | |_ Z
and air consumption. B
0 1 Il L 1 : 1 : I : 1 : 1 : 1 : 1 : 1 0 0 1 1 L L /| 1 L L 1 1 L L 0
0 200 400 600 800 1000 1200 1400 1600 1800 2000 2200 2400 0 200 400 600 800 1000 1200 1400 1600 1800 2000 2200 2400
SPEED revs per min SPEED revs per min
LUBRICATING OIL CAPACITIES GENERAL DATA
Horizontal 350ml Vertical 600ml MASS (motor only) 48 kgs (106 lbs)
Use a goood quality hydraulic oil with a viscosity of around ~ MOMEMT OF INERTIA of rotating parts 1.8 gm? (motor
100cSt (460SSU) at 40°C (104°F) only )
MAX OVERHUNG FORCE on motor shaft 1330 N (300
AIRLINE FILTRATION AND LUBRICATION bf)

Use 64 micron filtration or better. Choose a lubricator suita-  TEMPERATURE RANGE-20°C to +60°C (-4°F to +140°F)
ble for the flow required. Prior to initial start-up, inject oil infto  / -10°C to +60°C (-14°F to +140°F) with brake
the inlet port.

Lubricator drop rate 5-6 drops/minute continuous operation
Lubricator drop rate 10-12 drops/minute intermittent operation

GLOBE PISTON AIR MOTOR BROCHURE - 23




Options RM310 | Brake

Why you need a brake for your RM310 Piston Air Motor
The combination of motor with brake is widely used for winches, cranes and positioning devices. The brake mo-
dule bolts directly onto the motor mounting face and has exactly the same interface as the motor.

Dimensions RM310 Brake

140 mm

270 mm

'y

ol ol

15 mm
—- -

" O

B
™ 22.01 mm
Motor 21.99 mm

interface Note - same mounting

interface as motor
24 .50 mm\
24.27 mm

Mounting
600mm ¥ 1"
597 m

face
m T_

T A L I S

(Adjustable)

230.00 mm
229.93 mm

—

Mounting spigot -

305 mm diameter flanae

Brake line inlet compression
fitting for 5/16" O/D tubing

Pilot air
connection

Brake spring adjusters

[l 1l
o Pl B 8

DI

S N

/\ﬁ//ﬁ\
| N

4 holes 14 mm diameter
on 265 mm P.C.D.
Max. bolt length 35 mm

With or without ATEX Certification

For ATEX it is important that there is no possibility for the brake to drag while the motor is running. This will cause
friction which will heat up the brake. The GLOBE Brakes for the Piston RM Air Motor series are available with or
without ATEX Certification for safe operations in hazardous environments. when used in an ATEX application, the
brake torque is pre-set by GLOBE to a maximum torque which belongs to the desired operating pressure of the
motor. The end-user has to inform GLOBE prior to the delivery about the (max.) operating pressure of the motor.
At this pressure the brake will be fully released. This is done by adjusting the GLOBE APPV3214 valve which is
integrated in the pneumatic control system. Whenever this system’s pressure drops to a lower amount than 20%
below the set release pressure, the valve closes and the brake will be blocked. This system prevents dragging of
the brake shoes while operating by (unnoticed) pressure drops or incorrect handling.

Any unauthorized adjustment will make ATEX invalid. Changing or adjusting the pneumatic system, including the
valves, which controls the brake will also make ATEX invalid.

24 - GLOBE PISTON AIR MOTOR BROCHURE




Spare Parts List Parking Brake

ltem Part No. Description Qty
01 802-073 Set Screw M12 x 30 4
03 808-090 Bonded Seal 1/4"BSP Dowty 2
04 816-004 Banjo Bolt Only 1/8 BSP 1
05 816-005 Banjo Bolt C/W/ Nut&Rin 5/16 1
06 312-001 Brake Wheel 1
07 806-002 Dowel Dia 12 x 35 Lg 2
08 811-003 Key 6 Sq.x40mm(K126) 1
09 312-008 Brake Housing 1
10 310-049 Shim - Output 5
n 310-036 Output Shaft Spacer 3.55 1
mn 310-037 Output Shaft Spacer 3.80 1
n 310-038 Output Shaft Spacer 4.05 1
12 804-012 Circlip 32mm External 1
13 102-009 Brake Spring Adjuster 2
14 102-024 1/2" BSP Hex Nut 2
15 814-008 Spring 243914 2
16 802-031 Hex Head Screw M8 x 16 4
17 808-039 ORing 9/16" x 3/4" 1
18 802-020 Hex Head Screw M6 x 20 2
19 808-073 U Packing 2
20 312-014 Piston Block 1
21 302-01 Brake Piston 2
22 312-013 Block Support Plate 1
23 802-012 Hex Head Screw M6 x 12 2
24 804-007 Circlip 22mm External 1
26 312-901 Brake Shoe Assembly 2
27 312-005 Output Shaft 1
28 807-009 Ball Bearing 2
29 804-062 Circlip 72mm Internal 2
30 808-045 Oilseal 35x72x10/R4 1
32 312-003 Brake Shoe Pivot 2
33 804-122 Circlip 1/2" External Ander 2
34 7008G18 Breather plug 1/8 BSPP (ATEX only) 1

GLOBE PISTON AIR MOTOR BROCHURE - 25




Options RM310 | Gearbox

Why you need a gearbox for your RM310 Piston Air Motor

We can supply allour piston motors in combination with many different gearboxes. If you are looking for more
torque for a certain application, we can assist you by selecting the right kind of gearbox. Order your RM310
Piston Air Motor in combination with a gearbox for higher torques and lower speeds.

Performance summary

Maximum Power Conditions Approx. Min. | Max | Max overhung Weight
Gearbox Start torque Cont. Force
Ratio Torque Motor &
kW | HP | RPM Gearbox | Adapter | Gearbox kit b
Nm | bfFL | Nm | IbEF. | RPM | N | b Gearbox
5.15 637 85 350 165 122 170 125 461 2350 528 38 14 52 100
25.01 637 85 72 800 591 824 608 95 14060 3161 92 14 106 154
5197 637 85 35 1663 1227 1713 1264 46 18830 4233 130 14 144 192
78.06 637 85 23 2498 1843 2573 1899 30 26070 5861 194 14 208 256
103.80 637 8.5 17 3322 2451 3421 2525 23 26070 5861 194 14 208 256
123.37 637 85 15 3948 2914 4066 3001 19 27600 6205 312 14 326 374
156.38 637 85 12 5004 3693 5154 3804 15 35280 7932 312 14 326 374
178.38 6.37 85 10 5708 4213 5879 4339 13 86311 19404 475 14 489 537
198.71 637 85 9 6359 4693 6549 4834 12 86311 19404 475 14 489 537
253.08 637 85 7 8099 5977 8342 6156 9 86311 19404 475 14 489 537

26 - GLOBE PISTON AIR MOTOR BROCHURE




Base mounted Gear Box Dimensions

‘ J
[
L
_ M @) Y
o ® ] =
X r
|
| O ) :
O
@
° ] 2R i T
|
— [Te 1 i | I L
C E D
F B G
RANGE RATIO A B C D E F G H J L M P R T \\2 X Y VA MASS
115+ 35 92.5 165 135 110 200 195 265+ 35 722 83 70 300 135 25 70 40.01 12 43 96 kg
4.28 - 6.9:1
45'+14" 30" 65" 53" 43" 79" 77' 104'14" 284" 33" 28" T1.8' 05 10" 2.8 1585 05 17° 212l
140 + 10 95 205 170 ns 245 235 290+ 10 748 84 70 290 175 30 80 40.01 12 43 13 kg
8.11 - 16.45
55"+04" 37" 8.1" 6.7" 4.5" 9.6" 93"  1M.4"+04" 294" 33" 28" 14" 07" 12" 31" 1.585" 0.5" 1.7"  2501b
180 15 260 215 140 310 290 364 806 104 80 332 175 45 100  50.01 14 535 150kg
20.81 - 31.32
VAR 4.5" 102" 8.5" 5.5" 12.2"  1.4" 14.3" 31.7" 41" 31" 131" 07" 1.8 39" 1985" 06" 21" 330lb
225 132 310 250 159.5 365 340 445 891 125 100 410 22 50 120  60.02 18 64 184 kg
35.14 - 60.9:1
8.9" 52" 122" 98" 6.3" 14.4"  13.4" 17.5" 35.0" 49" 39" 161" 09" 20" 47" 238" 07" 25" 406lb
250 150 370 290 185 440 400 507 965 145 110 462 26 55 140  70.02 20 74.5 252kg
78.06 - 88.46:1
9.8" 59" 14.6" 1.4" 7.3" 173" 157" 20.0" 38.0" 57" 43" 182" 10" 22" 55" 278" 0.8" 29" 556lb

Flange mounted Gear Box Dimensions

| J
D
N
-—lﬂ| Y
W —— T
M
— X z
| 2B @A
®
K
RANGE RATIO A B © D E J K M N w X Y z MASS
300 230.00 13.5 15 265 721 80 70 4 80 40.01 12.0 43 96
4.28 - 6.9:1
1.8" 91" 0.5" 0.6" 104" 284" 31" 28" 0.2" 31" 1.6" 0.5" 17" 212
300 230.00 13.5 16 265 749 80 70 4 80 40.01 12.0 43 n3
8.11-16.45
1.8" 91" 0.5" 0.6" 104" 295" 31" 28" 0.2" 31" 1.6" 0.5" 17" 250
350 250.01 175 18 300 806 100 80 5 100 50.01 14 53.5 150
20.81 - 31.32
13.8" 9.8" o7" o7" msg" 317" 39" 31" 0.2" 3.9" 2.0" 0.6" 21" 330
450 350.00 17.5 20 400 891 120 100 5 120 60.02 18 64 188
35.14 - 60.9:1
17.7" 13.8" 07" 08" 157" 351" 47" 39" 0.2" 47" 2.4" 07" 25" 414
550 450.00 175 22 500 969 140 110 5 140  70.02 20 74.5 252
78.06 - 88.46:1

21.7" 17.7" 07" 09" 197" 381" 55" 43" 02" 55" 2.8" 0.8" 29" 556

GLOBE PISTON AIR MOTOR BROCHURE - 27




Options RM310 | Control Valve

Why you need a control valve for your RM310 Piston Air Motor

Control valves allow you to change the speed and direction of the motor, they are mounted directly onto the air
motor. This range of bolt on valves offers very sensitive speed and directional control. One frictionless matched
spool and sleeve assembly is offered with two alternative means of actuation.

Configuration

As standard these valves can be supplied with either EQUAL POWER OR BIASED POWER spools, the latter is
suitable for hoisting applications (normal power for lifting - reduced power for lowering).

The direction of reduced power must be stated when ordering CW or CCW, when viewed on the output shaft of
the motor.

Hand Controlled (HCV) - The control valve spool is operated directly by a lever mechanism. Speed increase is
obtained as the lever is moved in either direction from the centre (neutral) position.

Remotely Controlled (RCV) - This option is usually controlled from a remote position by one of the PC series or
LC2 remote controllers. A variable air pilot signal is applied to either end of the valve spool, depending on the
required direction of motor rotation. The pilot pressure range is between 1.4 bar (20 psi) and 4.8 bar (70 psi),
increased pilot pressure gives increased speed. The valve is spring centred to neutral.

Pressure Drop - Minimal pressure drop will be experienced through the valves, having the effect of
maintaining the output torque whilst reducing the motor output speed by approximately 10-15% at é bar (90 psi)
at maximum power. The starting torque remains unaffected.

Dimensions

HAND CONTROL VALVE
365 mm 75 mm

O » 160 mm - D )

Y
Y

Y

Inlet port Datum

'ﬁ 1" BSP
=\

193 mm

Port
JA 1 Q‘J_ B
103 mm
SURIZI%S Q@ D
Operating lever can b ] L Q © ¥ Port
fitted on either end 1E')'(hB%I§t port Face
72 mm f
- > 27 mm
- 280 mm - Port| Datum
REMOTE CONTROL VALVE Inlet port J 160 mm 4 7o

1"BSP \ Secondary exhg

port 1" BSP st h'
(T (] 8 ﬁ%

Motor centre line — One pilot port each end 1/4" BSP
Caps may be positioned with port
at top, bottom or either side

Mounts onto
motor port face

28 - GLOBE PISTON AIR MOTOR BROCHURE




Spare Parts List Hand Control Valve

Part No. Description Qty
01 311-066  End Cap Gasket 2
02E 321-913  Matched Spool and Sleeve 1 (Equipower)
02B  321-914  Matched Spool and Sleeve 1 (Biased)
4 817-002  Shoulder Screw 10 mm 1
5 311-071 Centering Shaft Guide 1
6 802-032 Hex Head Screw M8x20 6
7 313-041  Hand Lever Cap 1
8 808-010 ORing 1-9/16"x 1-11 /16" 6
9 321-060  Valve Body 1
10 311-068  Valve Sleeve Spacer 1
n 311-072  Washer, Spring Centering 1
12 814-015  Spring 343720 1
13 311-064  End Cap - Spring End 1
14 313-026  Toggle Pin 1
15 313-024  Toggle Shaft 1
16 815-010  Grub Screw M8 x 10 1
17 804-013  Circlip 20mm External 2 ~
18 313-008  Hand Lever Pivot 1 Z
19 815-002  Grub Screw M8 x 16 1
20 802-045 Hex Bolt M8 x 60 2 (&%)
21 313-002  Hand Lever 1 —d
22 818-002  Black Plastic Knob 1-1/2" 1
23 816-061  Plug 1/4" BSPT Sq. Head 3 o
25 113-050  Vent Plug 1
o
Spare Parts List Remote Control Valve
8
Item  Part No. Description Qty
5 1 311-066  End Cap Gasket 2

2E  321-913  Matched Spool and Sleeve 1 (Equipower)

2B 321-914  (Equipower) 1 (Biased)

4 817-002  Matched Spool and Sleeve (Biased) 1

5 311-071 Shoulder Screw 10mm 1

6 802-032  Centering Shaft Guide 8

7 311-065  Set Screw M8 x 20 1

8 808-010  End Cap - Plain End 6

9 321-060  O-Ring 1-9/16" x 1-11 /16" 1

10 311-068  Valve Body 1

n 311-072  Valve Sleeve Spacer 1

12 311-073  Washer, Spring Centering 1

13 311-064  Spring, Control Spool 1

14 816-048  End Cap - Spring End 1

15 816-061  Elbow M/F 1/4" BSPT 3

Plug 1/4" BSPT

GLOBE PISTON AIR MOTOR BROCHURE - 29




Spare Parts List RM310

Part No.

807-002
330-059
330-011
807-001
804-054
300-001
310-030
310-082
330-902A
300-024
300-022
330-077
330-013
804-012
310-036
310-049
804-062
808-045
330-911
330-076
808-026
816-071
330-012
320-081
330-078
320-052
320-053
320-054
330-010
811-010
802-053

Description

Rotary Valve Bearing (Outer)

Rotary Valve
Rotary Valve Housing

Rotary Valve Bearing (Inner)
Rotary Valve Bearing Circlip
Rotary Valve Housing Gasket

Cylinder Gasket
Cylinder

Piston Assembly
Compression Ring

Oil Control Ring

King Rod

Crankshaft Spacer
Crankshaft Circlip
Crankshaft Spacer
Crankshaft Spacer Shim
Crankshaft Bearing Circlip
Crankshaft Oilseal

Std. Crankshaft Assembly
Std. Flange Plate

Flange Plate Seal

Plug

Engine Case

Queen Rod Pivot

Queen Rod

Crank Spacer SELECT
Crank Spacer ON

Crank Spacer ASSEMBLY
Balance Weight
Woodruff Key

Cylinder Bolts

Kit No.

339-911
339-911

339-911
339-91

339-911

339-911

Item Part No.

38 802-053
40 802-032
4] 802-032
44 300-040
45 808-004
46 130-066
48 807-065
49 815-002

50 811-003

51A 330-005
51B 330-105
52 810-002
55 807-009
56 807-009
60 816-063

72A 330-003
728 230-103
73 330-004
75 808-008
80 330-060

339-911

If unitis pre 1990 supplied, consult manufacturer to confirm design.

Description

Valve Housing Bolts
Adaptor Plate Bolt

Exhaust Cover Bolts
Dipstick (vertical mounting)
Seal (transit only)

Breather Plug

Needle Bearing

Grub Screw

Key

Rotary Valve Exhaust Cover BSP
Rotary Valve Exhaust Cover NPT
Flange Bolt

Output Shaft Brg. (Outer)
Output Shaft Brg. (Inner)
Oil Level Plug

Inlet Adaptor Plate BSP
Inlet Adaptor Plate NPT
Inlet Adaptor Plate Gasket
Dipstick Seal

Rotary Valve Spacer
RM310 Seal Kit

Qty

[ N, QNN NN ' JE S NN N I N N

* *

Kit No.

339-911
339-911

30 - GLOBE PISTON AIR MOTOR BROCHURE




RMA410 Piston Air Motor

14 kW / 19 H.P.

Why buy the GLOBE RM410 Piston Air Motor

Our RM410 Piston Air Motors have a power range of 14 kW (19 HP) with 85 Nm (62.7 lbs ft.) torque at max.
power. Our piston air motors are designed to develop geater power than other motors of equivalent size. These
piston motors can be completed as desired with various accessories such as brakes, (control) valves and gear-

boxes.

Dimensions RM410

- o]
-t -

Filler /
Breather

310 mm dia.

4 holes Flange

14 mm dia.

Oil Drain Plug
on 265 mm P.C.D. (Level Plug Vertical Mounting)

Dimensions RM410 + Foot Bracket

mm
re height

228 mm
330 mm

2 holes

[l

Plan - Foot bracket fixing hole details

;-! 20 mm diameter

_ 342mm 104 mm
Inlet & Secondary 4.0 mm|  Circlip Groove
Exhaust Adaptor Plate e

2 Ports Tapped 1.25" BSP

[+— 60 mm
(deleted when usin, % 56 mm
e options)
8 Fy
mm
Primary | i 230 mm
Exhaust _{
- 114 mm
(’ f
T
Port Tapped Y
1.25" BSP —m | l4— 54 mm
| ] Effective
Qil Level Plug — 8mm
(Horizontal mounting) Square Key
Mounting Face
Arrows show direction of rotation
with airflow direction as shown
(Reverse port connections A & B
for opposite rotation)
342 mm \ 104 mm
Inlet & Secondary Circlip Groove
Exhaust Adaptor Plate
2 Ports Tapped 1.25" BSP e t-— 60 mm
(deleted when using '— 56 mm
valvg options)
— = N i
Primary i ‘ 2‘8 m 230 mm
A
Exhaust = == 4 \L &
-l //ﬁ 114 mm
‘ | Y
@
Port Tapped 4
1.25" BSP . let— 54 mm
Effective
Oil Level Plug e — 8mm
(Horizontal mounting) Square Key

Mounting Face

Arrows show direction of rotation
with airflow direction as shown
(Reverse port connections A& B
for opposite rotation)

GLOBE PISTON AIR MOTOR BROCHURE - 31




Gearbox ratio: None

Maximum speed: 2000 RPM
No Control Valve fitted

Reading Graphs - Scales have been adjusted to enable bar and psi to be read from a common curve.
Therefore only read psi with the left hand axis and bar with the right hand axis.

GRAPH 1 TORQUE - SPEED

20 l T T T T —
B ‘ SPEED - The motor can be operated —
— \720p continuously in the areas covered by the |
- - B\s/ = =[= = = = | graphs, but in certain circumstances the |=f~140
100 17, \ operating envelope can be extended. ]
(Y ‘\ Contact factory. _
'—'\%x‘i\"' - "'_"""_‘120
n \ T
80 90 ps; s
Y] 2= 2Pz r=dz =529 —\-——_——————100
P e N N R
) | — & ] =
u:,JSO L — 70_<B‘_. > oS \\—————803
B 1 ©
S [--lso EN_\HXQ\\ N 2
1 I~ N
40 =
L _ | 40 I 8, I~ R
I e R (R .>\>\§_40
| \\\\\\
20
= = == == = == ==k === == = == =T~ 420
0 i L L L L Il | L Il | | ] 0

0 200 400 600 800 1000 1200 1400 1600 1800 2000
SPEED revs per min

GRAPH 3 POWER - SPEED

24 T T T T T T
I~ | PEAK POWER is developed at 1600 r.p.m. and
22 | itis desirable that the motor’s continuous _ 16
|_| operating conditions are as close to this as
possible, since this gives optimum performance
20‘; and air consumption. I W— eea;_14
. ;, i
i Q‘a\‘/ I N A 12
el aintied ninle nlelln B, -~ Lineliaslp
16 Q
G T A k
__—98,,
ST T T A "2
o | ——
TRE o5 —~ &
w 2)
@ -/ ././g. -7,,#7“*_8%
10 —
g B 10 L —T | 1 4 Bar o
PP il i . -60‘,9\ [~ p--p--]---F6
L—
i / /4/
S TF==17//7 ot e A e
- A
///
4
== 7.:4-- . |~ = =|= = =|= =32
2
| g
0 L L I I I I I I I I 0

0 200 400 600 800 1000 1200 1400 1600 1800 2000

LUBRICATING OIL CAPACITIES

Horizontal 500ml Vertical 940ml|

Use a goood quality hydraulic oil with a viscosity of around
100cSt (460SSU) at 40°C (104°F)

AIRLINE FILTRATION AND LUBRICATION

Use 64 micron filtration or better. Choose a lubricator suita-
ble for the flow required. Prior to initial start-up, inject oil into
the inlet port.

GRAPH 2 STARTING TORQUE - PRESSURE
PRESSURE bar

I 2 3 4 5

T
6
T T T T T — T / T T
- STARTING TORQUES vary between the minimum . . — = — |« & — ~L-140
100 -H and maximum levels shown. These depend on the /
inlet pressure. When designing for applications /' . .
H where the minimum start torque requirement is 1 1 1
| | equal to the running torque (as for example on Y T R | I (e I I
hoists), the motor should be operated within the 1 1 1 120
| darker shaded area. This will ensure that the motor " ' 1
80 -+ Will always have adequate starting torque. - - -
Fd s R bl b i K -1/—'-—-—l———1-—---l —100
w — 1 1 1 "05‘/ 1 1 1 / E
] B 1 1 1 OQ-/ 1 1 / 17| w
w 1 1 1 RN/ 1 1 s 1
ST T T é"ﬁ [ 7N o 808
(e} B 1 1 Q‘S\ 1 1 / 1 1_| x
g 1 A 1 y 1 1 1 o]
- :--L___l.yl.___l_oqp I P _l__60|_
40 1 ’ é 1 S / 1 1 1 1
| 1 \@ 1 .‘\$ 7 | 1 1 1-
1 v'.\' é«?g‘ 1 1 1 1 1
=-'r-s“ﬂ'—\)\t\/-ﬂ'--r-'ﬂ'--r- -1 40
B )
P90 N B -« 0 O A - S
W
= - 1 L[Sl S | S S| [y S I LS SRS o)
| 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1}
0 | : | / Il | ] L ] IL ] II |l 0
T

O 10 20 30 40 50 60 70 8 9 100 110 120
PRESSURE PSI

GRAPH 4 CONSUMPTION - SPEED

700
-—————-————-——-——--——-—————&—300
|

600
& /// 250
q’ ‘bt e i ottty Nl _—— __\_ P = [ -
“gsoo y&"’/z ;;
[~
€ Ao .
‘5 -—————————————-/:og«sc/z%—zoo'g
3 400 < 9]
3] o0 =
& V7
= ======-==-======7 - —-;\0-- == ———150&
o 300 ) @
= 60\’/ | —1 o
gzoo______ //_/,A{__ ——]- - 4100
o | —
B / /é
<00 '/ 50

0 L L L L L L L il L L o

T
0 200 400 600 800 1000 1200 1400 1600 1800 2000
SPEED revs per min

GENERAL DATA

MASS (motor only) 62 kgs (137 Ibs)

MOMEMT OF INERTIA of rotating parts 4.1 gm? (motor
only )

MAX OVERHUNG FORCE on motor shaft 1330 N (300
[bf)

TEMPERATURE RANGE -20°C to +60°C (-4°F to +140°F)
/ -10°C to +60°C (-14°F to +140°F) with brake

Lubricator drop rate 6-8 drops/minute continuous operation

Lubricator drop rate 12-16 drops/minute intermittent operation

32 - GLOBE PISTON AIR MOTOR BROCHURE




Options RM410 | Brake

Why you need a brake for your RM410 Piston Air Motor
The combination of motor with brake is widely used for winches, cranes and positioning devices. The brake mo-
dule bolts directly onto the motor mounting face and has exactly the same interface as the motor.

Dimensions RM410 Brake

175 mm . 104 mm 340 mm Brake line inlet compression
- T o - fitting for 5/16" O/D tubin
16 mm 37 mm (Adjustable) g g
—~ -
Brake spring adjusters Pilot air
4.0|mm 1 connection
EIZEH%' jumni -
— 206 mm
] N ]
- /6\
S WY
i J )
™ " 28.01mm - \{/// &
Motor 28.00 mm NS
interface j—_‘ Note - same mounting
. interface as motor W
31.01 mm 230.00 mm
30.71 mm\ » 229.93 mm 4 holes 14 mm diameter
e Mounting Mounting spigot on 265 mm P.C.D.
8.00 mm @ face Max. bolt length 40 mm
7.94mm §— 305 mm diameter flanae

With or without ATEX Certification

For ATEX it is important that there is no possibility for the brake to drag while the motor is running. This will cause
friction which will heat up the brake. The GLOBE Brakes for the Piston RM Air Motor series are available with or
without ATEX Certification for safe operations in hazardous environments. when used in an ATEX application, the
brake torque is pre-set by GLOBE to a maximum torque which belongs to the desired operating pressure of the
motor. The end-user has to inform GLOBE prior to the delivery about the (max.) operating pressure of the motor.
At this pressure the brake will be fully released. This is done by adjusting the GLOBE APPV3214 valve which is
integrated in the pneumatic control system. Whenever this system’s pressure drops to a lower amount than 20%
below the set release pressure, the valve closes and the brake will be blocked. This system prevents dragging of
the brake shoes while operating by (unnoticed) pressure drops or incorrect handling.

Any unauthorized adjustment will make ATEX invalid. Changing or adjusting the pneumatic system, including the
valves, which controls the brake will also make ATEX invalid.

GLOBE PISTON AIR MOTOR BROCHURE - 33




Spare Parts List Parking Brake

Part No.

802-073
808-090
412-034
816-004
816-005
412-001
806-002
412-010
430-049
430-035
804-016
412-009
412-024
814-010
802-031
808-112
804-010
808-076
412-902A
412-011
412-013
430-083
812-131
811-004
412-901
412-133
807-013
804-068
808-048
811-005
412-003
808-133
7008G18

Description

Q
3

Set Screw M12 x 30
Bonded Seal 1/4"BSP Dowty
Spacer-Output Shaft
Banjo Bolt Only 1/8 BSP
Banjo Bolt C/W/ Nut&Rin 5/16
Brake Wheel

Dowel Dia 12 x 35 Lg
Brake Housing

Shim - Output

Output Shaft Spacer
Circlip 38mm External
Brake Spring Adjuster
Locknut

Spring 304114

Hex Head Screw M8 x 16
ORing 11/16" x7/8"
Circlip 28mm External

U Packing 210-319-4490
Piston Block assy

Brake Piston

Block Support Plate

Oil Seal Sleeve

Brake Shaft Driver

Key K121

Brake Shoe Assembly
Brake Shaft

Bearing 6308 2 RS
Circlip 90mm Internal
Qilseal 40x72x10/R21
Key K128

Brake Shoe Pivot

O Ring 3-1/2"ID x .139
Breather plug 1/8 BSPP (ATEX only)

e N == NN =N —=—=—= =N —=NN—=AMNNN—=—=O0N—=N —— — =N N

34 - GLOBE PISTON AIR MOTOR BROCHURE




Options RM410 | Gearbox

Why you need a gearbox for your RM410 Piston Air Motor
We can supply all our piston motors in combination with many different gearboxes. If you are looking for more
torque for a certain application, we can assist you by selecting the right kind of gearbox. Order your RM410

Piston Air Motor in combination with a gearbox for higher torques and lower speeds.

Performance summary

Maximum Power Conditions fepres i, || e e e Weight
Gearbox Start torque Cont. Force
Ratio Torque Motor &
(3% HP | RPM Gearbox | Adapter | Gearbox kit b
Nm | Ibf.Ft. | Nm | Ibfh.Ft. | RPM | N Ibf. Gearbox
5.06 1.25 15 316 288 213 317 234 390 3010 677 67 14 81 143
24.94 1.25 15 64 1422 1049 1564 154 79 13780 3098 132 14 146 208
48.44 1.25 15 33 2761 2038 3037 2241 41 22270 5007 215 14 229 291
69.36 1.25 15 23 3954 2918 4349 3209 28 31140 7001 312 14 326 388
92.91 1.25 15 17 5296 3908 5825 4299 21 31140 7001 312 14 326 388
123.59 1.25 15 13 7045 5199 7749 5719 16 86311 19404 475 14 489 551
141.28 1.25 15 n 8053 5943 8858 6537 14 86311 19404 475 14 489 551
177.23 1.25 15 9 10102 7455 12 8201 n 101570 22835 635 14 649 Al
206.34 1.25 15 8 11761 8680 12938 9548 10 120000 26978 635 14 649 Al

GLOBE PISTON AIR MOTOR BROCHURE - 35




Base mounted Gear Box Dimensions

J

2 X

| O N ‘
A
) 2R H: ”'l i
c E b
F B
G
RANGE RATIO A B © D E F G H J L M P R T w X Y z MASS
140-35 115.00 205 170 135 245 235 315+35 865 104 80 350 17.5 30 100  50.01 14 535 143kg
49-6721 5.5-1.3 4.5" 8.1" 6.7" 53" Q7" 925" 12.4"+1.4" 341" 41" 32" 13.8" 07" 1.2" 39" 197" 06" 21" 315
180 115.00 260 215 140 310 290 364 900 104 80 350 17.5 45 100  50.01 14 535 16lkg
79917271 71" 4.5" 10.2"  8.5" 55" 122" 14" 14.3" 354" 41" 32" 13.8" 07" 1.8" 39" 197" 0.6" 21" 355Ib
225 132.00 310 250 1595 365 340 445 959 125 100 410 22 50 120  60.02 18 64 208kg
174835147 8.9" 52" 122" 98" 63" 144" 13.4" 17.5" 378 49" 39" 161" 09" 197" 47" 2.4" 0.7" 25" 4591b
250 150.00 370 290 185 440 400 507 1063 146 110 462 26 55 140  70.02 20 75 291 kg
3797573611 9.8" 59" 14.6"  11.4" 7.3" 173" 157" 19.96" 419" 58" 43" 182" 1.02" 22" 55" 2.8" 0.8" 29" 6421b
315 220.00 410 340 260 490 450 578 1163 210 180 510 33 60 210 100.02 28 106  388kg
621281041 12.4" 8.7" 161" 13.4" 102" 19.3" 177" 22.755" 458" 83" 71" 201" 13" 24" 83" 3.9" 1" 42" 8151b
Flange mounted Gear Box Dimensions
J
B
N
a}
W
M X —— T
L ﬁ 98 0A z
|
®
K
RANGE RATIO A B © D E J K M N \Y% X Y z MASS
350 250.01 17.5 16 300 865 100 80 4 100  50.01 14 53.5 143 kg
428691 13.8" 9.8" 07" 06" 1.8" 341" 39" 32" 0.2" 3.9" 196" 06" 21" 3151b
350 250.01 17.5 18 300 906 100 80 5 100 50.01 14 53.5 161 kg
BT -1645 13.8" 9.8" 07" 07" 1n.8" 357" 39" 3.2" 0.2" 3.9" 1.96" 0.6" 21" 3551b
450 350.00 17.5 20 400 959 120 100 5 120 60.02 18 64 208 kg
20.81 - 31.32
17.7" 13.8" 07" 08" 157" 378" 47" 39" 0.2" 4.7" 2.4" 07" 25" 459 1b
450 350.00 17.5 22 400 1063 140 10 5 140  70.03 20 74.5 291 kg
35.14 - 60.9:1
17.7" 13.8" 07" 09" 157" 419" 55" 43" 0.2" 5.5" 2.8" 0.8" 29" 642 b
550 450 17.5 25 500 125 170 140 5 210 90.02 25 106 388kg
78.06 - 88.46:1
217" 17.7" 0.7" 1.0" 19.7" 443" 67" 55" 0.2" 8.3"  3.54" 1.0" 42" 815 b

36 - GLOBE PISTON AIR MOTOR BROCHURE




Options RM410 | Control Valve

Why you need a control valve for your RM410 Piston Air Motor

Control valves allow you to change the speed and direction of the motor, they are mounted directly onto the air
motor. This range of bolt on valves offers very sensitive speed and directional control. One frictionless matched
spool and sleeve assembly is offered with two alternative means of actuation.

Configuration

As standard these valves can be supplied with either EQUAL POWER OR BIASED POWER spools, the latter is
suitable for hoisting applications (normal power for lifting - reduced power for lowering).

The direction of reduced power must be stated when ordering CW or CCW, when viewed on the output shaft of
the motor.

Hand Controlled (HCV) - The control valve spool is operated directly by a lever mechanism. Speed increase is
obtained as the lever is moved in either direction from the centre (neutral) position.

Remotely Controlled (RCV) - This option is usually controlled from a remote position by one of the PC series or
LC2 remote controllers. A variable air pilot signal is applied to either end of the valve spool, depending on the
required direction of motor rotation. The pilot pressure range is between 1.4 bar (20 psi) and 4.8 bar (70 psi),
increased pilot pressure gives increased speed. The valve is spring centred to neutral.

Pressure Drop - Minimal pressure drop will be experienced through the valves, having the effect of
maintaining the output torque whilst reducing the motor output speed by approximately 10-15% at é bar (90 psi)
at maximum power. The starting torque remains unaffected.

Dimensions

HAND CONTROL VALVE
365 mm o 75 mm

4

’f1-1;’4 BSP
NA — = f
Ri¥iil J Q ] e
)

¥

— O O
) I Y vy Port
Operating lever can b Exhaust port Face
fitted on either end 1-1/4" BSpP
72 mm
- > 22 mm
» 280 mm Port| Datum
REMOTE CONTROL VALVE Inlet port - 160 mm 72 mm
1-174 BSP\ Secondary exhgust
(P port 1-1/4" BSP i
JA T Ai
114 mm
T ] o (D )
O O
A
Motor centre line —»1 One pilot port each end 1/4" BSP Mounts onto

Caps may be positioned with port

motor port face
at top, bottom or either side P

GLOBE PISTON AIR MOTOR BROCHURE - 37




Spare Parts List Hand Control Valve

38 - GLOBE PISTON AIR MOTOR BROCHURE

Iltem  PartNo.  Description Qty
01 311-066  End Cap Gasket 2
02E  431-913  Matched Spool and Sleeve 1 (Equipower)
02B  431-914  Matched Spool and Sleeve 1 Biase
4 817-002  Shoulder Screw 10 mm 1
5 311-071  Centering Shaft Guide 1
6 802-032 Hex Head Screw M8x20 6
7 313-041  Hand Lever Cap 1
8 808-010 O Ring 1-9/16" x 1-11/16" 6
9 431-060 Valve Body 1
10 311-068  Valve Sleeve Spacer 1
1 311-072  Washer, Spring Centering 1
12 814-015  Spring 343720 1
13 311-064  End Cap - Spring End 1
14 313-026  Toggle Pin 1
15 313-024  Toggle Shaft 1
16 815-010  Grub Screw M8 x 10 1
17 804-013  Circlip 20mm External 2
18 313-008  Hand Lever Pivot 1
19 815-002 Grub Screw M8 x 16 1
20 802-045 Hex Bolt M8 x 60 2
21 313-002  Hand Lever 1
22 818-002  Black Plastic Knob 1-1/2" 1
23 816-061 Plug 1/4" BSPT Sq. Head 3
25 113-050  Vent Plug 1
Spare Parts List Remote Control Valve
6
Item Part No.  Description Qty
1 311-066  End Cap Gasket 2
2E 431-913  Matched Spool and Sleeve 1 (Equipower)
2B 431-914  Matched Spool and Sleeve 1 (Biased)
4 817-002  Shoulder Screw 10mm 1
5 311-071  Centering Shaft Guide 1
6 802-032 Hex Head Screw M8x20 8
7 311-065  End Cap - Plain End 1
8 808-010 O-Ring 1-9/16" x 1-11/16" 6
9 431-060  Valve Body 1
10 311-068  Valve Sleeve Spacer 1
1 311-072  Washer, Spring Centering 1
12 311-073  Spring, Control Spool 1
13 311-064  End Cap - Spring End 1
14 816-048  Elbow M/F 1/4" BSPT 1
15 816-074  Plug 1/4" BSPT 3




Spare Parts List RM410

Part No.

807-006
430-006
430-011
807-005
804-066
430-001
430-030
430-082
430-902A
430-024
430-022
430-077
430-053
804-016
430-035
430-049
804-068
808-048
430-901
430-076
430-097
808-018
816-071
430-012
430-081
430-078
430-052
430-053
430-054
430-010
811-009

Description

Rotary Valve Bearing (Outer)

Rotary Valve
Rotary Valve Housing

Rotary Valve Bearing (Inner)
Rotary Valve Bearing Circlip
Rotary Valve Housing Gasket

Cylinder Gasket
Cylinder

Piston Assembly
Compression Ring

Oil Control Ring

King Rod

Crankshaft Spacer
Crankshaft Circlip
Crankshaft Spacer
Crankshaft Spacer Shim
Crankshaft Bearing Circlip
Crankshaft Oilseal

Std. Crankshaft Assembly
Std. Flange Plate

SAE Flange Plate

Flange Plate Seal

Plug

Engine Case

Queen Rod Pivot

Queen Rod

Crank Spacer SELECT
Crank Spacer ON

Crank Spacer ASSEMBLY
Balance Weight
Woodruff Key

Q
<

*

*

* * ok

*

—_ L WWa —m —m a a  a a N—= =N —=MDMMMDN = — oo

Kit No.

439-910
439-910

439-910
439-910

439-910

439-910

Part No.

802-054
802-054
802-054
802-033
808-004
130-066
430-083
807-045
815-003

811-005

430-005
430-105
809-001

807-013

807-012

816-074

430-003
430-103
430-004
439-910

Description

Cylinder Bolts
Valve Housing Bolts
Adaptor Plate Bolt
Exhaust Cover Bolts
Seal (transit only)
Breather Plug

Qil Seal Carrier
Needle Bearing
Grub Screw

Key

Rotary Valve Exhaust Cover BSP
Rotary Valve Exhaust Cover NPT

Flange Bolts

Output Shaft Brg. (Outer)
Output Shaft Brg. (Inner)
Oil Level Plug

Inlet Adaptor Plate BSP
Inlet Adaptor Plate NPT
Inlet Adaptor Plate Gasket
RM410 Seal Kit

Qty

—_— e P A N P A N = = = N AN —

o

*

Kit No.

439-910

GLOBE PISTON AIR MOTOR BROCHURE - 39




RM510 Piston Air Motor

22 kW / 30 H.P.

Why buy the GLOBE RM510 Piston Air Motor

Our RM510 Piston Air Motors have a power range of 22 kW (30 HP) with 200 Nm (147.5 Ibs ft.) torque at max.
power. Our piston air motors are designed to develop geater power than other motors of equivalent size. These
piston motors can be completed as desired with various accessories such as brakes, (control) valves and gear-

boxes.
Dimensions RM510
| 470 mm ) 390 mm ) 200 mm
. A B Inlet & Secandary 4.0 mm Circlip Groove
glr"eartr{ler Exhaust Adaptor Plate
2 Ports Tapped 1.50" BSP _ (— 80 mm
(deleted when using l— 76 mm
[ | O valve options)
o Iy
/ e \ = | (166m 35 mm
Primary A | 310 mm
] (] < 8 Exhaust ‘ 1
© - o T 120 mm
O W Oy
R ~ k.
o O { | 1 4
O Port Tapped F—
1.50" BSP = ¥
3 385 mm dia.Flange —a +— 88 mm
~ o Oil Level Plug L Effective
5 holes (Horizontal mounting) — — 10 mm
18 mm dia. Gl Drain Plug Square Key
on 350 mm P.C.D. (Level Plug Vertical Mounting) Mounting Face
Arrows show direction of rotation
with airflow direction as shown
(Reverse port connections A & B
for opposite rotation)
Dimensions RM510 + Foot Bracket
) 470 mm " _ 3/Omm . 200mm
Filler / A B Inlet & Secgndary Circlip Groove
Exhaust Adaptor Plate
Bryather 2 Ports Tapped 1.50' BSP | L  la— 80mm
. (eleted whbn using I 76 mm
valve q)thrls)
T 165 m 3
I'__ 35 mm
% Primary 'y _Ii 310\ mm
Exhaust -
J 3:1; —~’g’ H:D_% 12} mm
-
L Port Tapped B ¥ _If
264 mm 1.50" BSP - =) r
cenfre height )9'—“\ ] &8 mm
Effactive
146 mm Sguare Key
o —=—
70 mm
‘-&\ ? $ Amrows show direction of rotation
305 mm . with airflow direction as shown
- 4 holes (Reverse port connections A & B
- 388 mm 22 mm dlameter for opposite rotation)

40 -

f
Flan - Foot bracket fixing hole details

GLOBE PISTON AIR MOTOR BROCHURE




Gearbox ratio: None

Maximum speed: 1500 RPM
No Control Valve fitted

Reading Graphs - Scales have been adjusted to enable bar and psi to be read from a common curve.
Therefore only read psi with the left hand axis and bar with the right hand axis.

GRAPH 1 TORQUE - SPEED

300 S I — — —
i | | | ps e e --360
SPEED - The motor can be operated
280 continuously in the areas covered by the | |-
7 graphs, but in certain circumstances the
240 e [ || operating envelope can be extended. =4-320
— \\\ Contact factory. |
220 —
S s S JERES - —{-—-——————————-—280
200 72, =
~— 0
— I A,
JURRN [ ] I e N N SCYZP S N S B P9
8 — I~ (4
£ T~ 7, - £
5 160 ] %
Emo_- e -\\-i\ _%lps\\_ oee,_ == -—200g
gl = || ~ 5 Q\ - g
& 120 SN 160 %
5" 1 Qj\\ 25 \\_ L
1004 | I~~~ 6 4
| s MO | $\-O\DS/ U S quzo
o NN
— |
- \\\ 40 \\ \a' \\
60 -JE S e e e e - == =To~l == 480
I~
] e I~ N
o I~ T~ N~
I~
| | S N R - |- = [~ == === 40
I~
20
0 0

0 100 200 300 400 500 600 700 800 900 1000 1100 1200 1300 1400 1500
SPEED revs per min

GRAPH 3 POWER - SPEED

32 T
1 8
30 A 8-
28_-------------Q%\--7----- == 1
26 (\9' B
. — L
20 A | — —
: VAvA 6 B
22 S Bar
B N a RS
& 20— 'Qg‘?;’/';""""'
. I B
% 18 ,/ '{ — 1 S
o L/ AL L T L
w 18 / 7o ;
. 1 -
& e d——— /--»9‘5\ T —— 98, 10 O
o .7 Y, D -
I 12 7
. — — »
10 / 0 S
8_ / / 40 | — L
P il v s T = C S Oy S N i e N B
T PEAK POWER is developed at 1100 r.p.m. and it is :
4 desirable that the motor's continuous operating 1
7 conditions are as close to this as possible, since this | |~
2: gives optimum performance and air consumption.  ['|—
T T T I T T T T T 0

T 1 T T 1 U T U U T
0 100 200 300 400 500 600 700 800 900 1000 1100 1200 1300 1400 1500
SPEED revs per min

LUBRICATING OIL CAPACITIES
Horizontal 1,1 litres Vertical 2,1 litres

Use a goood quality hydraulic oil with a viscosity of around

100cSt (460SSU) at 40°C (104°F)

AIRLINE FILTRATION AND LUBRICATION
Use 64 micron filtration or better. Choose a lubricator suita-

ble for the flow required. Prior to initial start-up, inject oil into

the inlet port.

GRAPH 2 STARTING TORQUE - PRESSURE
PRESSURE bar

T T T T T T T T
1 2 3 4 5 6 7 8
280 —_— : : :
STARTING TORQUES vary between the minimum 1 1 A
260 —{ | and maximum levels shown. These depend on the
inlet pressure. When designing for applications ! ' -
240 —H where the minimum start torque requirement is - - -
equal to the running torque (a ample on 1 / e
220 -+ hoists), the motor should be operated within the | I = =4 = kl-300
darker shaded area. This will ensure that the motor 1 1 1
200 -H will always have adequate starting torque. 5 .
- 1 1 1 1 1 / 1 N £
- 180 1 | 1 1 1 1 1 b
.
2 1 I 1 1 1 1 1 =
L 160 T T T T3 /r/ T T /r_ g
=] St el il s E R S Z EE s B~ It ol ]
g 140 1 1 1 <0 1 1 / 1 1 [+3
o (S )
1 [ & JA 1 A 1 1
9 ik 1 [ IQ:\\ 1 o_\)e/ 1 1 N
100 ! IO ZEE 0‘0‘?;/ ! ] -
1 I & N 1 1 1 1
H B
80 1 J \@\) '\PQ A 1 1 1 1 B
-—-ﬂ——-v. —\}'/9 =n==[A=-r-r=-=pp-T-r100
60 - 1 \}\ 1 1 1 1 1
1 \\\\ 1 1 1 1 1 1
40 t +
/ 1 1 1 1 1 1 N o
20 [ 1 1 1 1 1 L
1 | 1 1 1 1 1 1
0 0

0 10 20 30 40 50 60 70 80 90 100 110 120
PRESSURE PSI

GRAPH 4 CONSUMPTION - SPEED

1200
1100 500

<
-51000___________._ _._________9%—450
o |1
L0ttt T a2 =400
< S
'€ 800 NI o
£ —__________n_..___/\‘\v_. __63___350—
2 o 5
5 700 ,/ DA |
2 —————————-—-—//7/9:——»/—;7«—300.:
S 600 7 ~ a9
- e I N P LT 110 N\ ot~ f2502
lgsoo ,//,// 5‘{/ E
aoo________ é[.-//a/:zfyﬂ—zoo?_‘i
4 ~ A
8300—————— ,44//-//{—————————-—150

% ///
5200---- ///-/- o e T S e e =
7%

100 == U= I ISR N S N IS S| S| | S| | |-

i
0 100 200 300 400 500 600 700 800 900 1000 1100 1200 1300 1400 1500
SPEED revs per min

GENERAL DATA

MASS (motor only) 115 kgs (254 Ibs)

MOMEMT OF INERTIA of rotating parts 14 gm? (motor
only )

MAX OVERHUNG FORCE on motor shaft 6500 N (1460
Ibf)

TEMPERATURE RANGE -20°C to +60°C (-4°F to +140°F)
/ -10°C to +60°C (-14°F to +140°F) with brake

Lubricator drop rate 6-8 drops/minute continuous operation

Lubricator drop rate 12-16 drops/minute intermittent operation

GLOBE PISTON AIR MOTOR BROCHURE - 41




Options RM510 | Brake

Why you need a brake for your RM510 Piston Air Motor
The combination of motor with brake is widely used for winches, cranes and positioning devices. The brake mo-
dule bolts directly onto the motor mounting face and has exactly the same interface as the motor.

Dimensions RM510 Brake

172 mm e 2OMM 450 mm Brake line inlet compression
(Adjustable) fitting for 5/16" O/D tubing

16 mm 16 mm
— -

i P U

268 mm

Brake spring adjusters Pilot air
connection

I e N S oy [N
] - SRS — SRS

N
N

//Ak'

o
f?

ha 35.02 mm \\{/// @\/ /
Motor 35.00 mm §\\ NEES
interface | Note - same mounting R
|y interface as motor W N
310.00 mm
2?'3? mm . 309.92mm
' Mounti - oot ™
10.00 mm_+:1©% ?:cr:emg Mounting spigot gnhglfg n1ﬂlﬁﬂln‘||:,m(_;dl:i)ameter
9.96 mm _ 385 mm diameter flange | Max. bolt Ienétﬁ 3;5 mm

View on shaft end

With or without ATEX Certification

For ATEX it is important that there is no possibility for the brake to drag while the motor is running. This will cause
friction which will heat up the brake. The GLOBE Brakes for the Piston RM Air Motor series are available with or
without ATEX Certification for safe operations in hazardous environments. when used in an ATEX application, the
brake torque is pre-set by GLOBE to a maximum torque which belongs to the desired operating pressure of the
motor. The end-user has to inform GLOBE prior to the delivery about the (max.) operating pressure of the motor.
At this pressure the brake will be fully released. This is done by adjusting the GLOBE APPV3214 valve which is
integrated in the pneumatic control system. Whenever this system’s pressure drops to a lower amount than 20%
below the set release pressure, the valve closes and the brake will be blocked. This system prevents dragging of
the brake shoes while operating by (unnoticed) pressure drops or incorrect handling.

Any unauthorized adjustment will make ATEX invalid. Changing or adjusting the pneumatic system, including the
valves, which controls the brake will also make ATEX invalid.

42 - GLOBE PISTON AIR MOTOR BROCHURE




Spare Parts List Parking Brake

7
3

5:5*000\1001#(»!\)—-

Part No.

816-005
512-013
512-030
512-021
804-017
811-006
808-002
512-001
512-036
807-013
412-003
803-003
512-008
518-001
518-002
808-042
512-005
807-063
802-016
804-068
816-265
802-053
802-052
802-094
808-071
512-011
512-009
512-024
814-011
512-901
816-006
808-090
811-030
7008G18

Description Qty

Banjo Body C/W Nut & Pin 5/16"
Plunger Plate

Gasket Plunger Block
Plunger Block

Circlip 40mm External

Key K130

O-Ring - 1/8" x 1-3/8"
Brake Wheel

Wheel Spacer

Bearing 6308 2RS

Pin

Washer M16

Brake Housing

Output Bearing Spacer
Output Bearing Housing Cap
Oilseal 48 x 62 x 8/R4
Brake Shaft

Roller Bearing

Hex Head Screw M6 x 16
Circlip 90mm External

Screw Plugs (Bluemay)

Set Screw M10 x 25

Set Screw M10 x 20

Bolt M6 x 40 Hex Head

U Packing U132

Plunger

Adjuster Screw

Locknut

Spring MSD 15

Brake Shoe Assembly

Banjo Bolt 1/4" BSP
Bonded Seal 1/4" BSP Dowty
Key 10 x 8 x 63

Breather plug 1/8 BSPP (ATEX only)

L N = NN NNNNNORARNNWO — a0 a0 0 OV = = a0 = N — 2 —

GLOBE PISTON AIR MOTOR BROCHURE - 43




Options RM510 | Gearbox

Why you need a gearbox for your RM510 Piston Air Motor

We can supply all our piston motors in combination with many different gearboxes. If you are looking for more
torque for a certain application, we can assist you by selecting the right kind of gearbox. Order your RM510
Piston Air Motor in combination with a gearbox for higher torques and lower speeds.

Performance summary

Maximum Power Conditions Ao W, Max Wi v Weight
Gearbox - Start torque Cont. Force
Ratio orque Motor &
I kW HP | RPM Gearbox | Adapter | Gearbox kit ° ol:
Nm | IbfF. | Nm | bfFL | RPM | N Ibf. Gearbox
5.24 16 22.5 210 734 541 807 596 281 13870 3118 85 18 103 218
25.05 16 22.5 44 3507 2588 3858 2847 59 45000 1017 215 18 233 348
50.74 16 22.5 22 7104 5243 7814 5767 29 50000 11241 305 18 323 438
92.06 16 22.5 12 12888 9512 14177 10463 16 120000 26978 635 18 653 768

44 - GLOBE PISTON AIR MOTOR BROCHURE




Base mounted Gear Box Dimensions

@ X ——

AN
O
A

5 T 9r i N miil
—————————————————1
€ EB —T
G
RANGE RATIO A B C D E F G H J L M P R T W X Y Z MASS
225 132 310 250 159.5 365 340 469 131 125 100 410 22 50 120 60.02 18 64 218 kg
342 12,681 8.9" 52" 12.2" 9.8" 6.3" 14.4"  13.4" 18.5" 44.5" 49" 39" 161" 0.9" 20" 47" 2.4" 0.7" 2.5" 481 Ib
250 150 370 290 185 440 400 507 1092 145 1o 462 26 55 140 70.02 20 74.5 348kg
1406 -21.41:1 9.8" 59" 14.6" 11.4" 7.3" 173" 157" 20.0" 43.0" 57" 43" 182" 1.02" 22" 55" 2.8" 0.8" 29" 767 |b
315 220 410 340 260 490 450 578 1199 216 180 510 33 60 210 100.03 28 106  438kg
23.04-35091 12.4" 8.7" 16.1" 13.4 10.2" 19.3" 17.7" 22.8" 472" 85" 71" 201" 1.3" 2.4" 8.3 3.9" 11" 42" Q66 |b
355 215 500 380 260 590 530 660 1305 216 180 580 39 65 210 100.03 28 106 608 kg
394563081 14.0" 8.5" 19.7" 150" 10.2" 232" 209" 26.0" 51.4" 85" 71" 228" 1.5" 2.6" 83" 3.9" 11" 42" 13401b
425 225 580 500 270 670 630 758 1373 216 180 630 39 100 210 120.03 32 127 768 kg
69.41 - 92.06:1

16.7" 89" 228" 197" 10.6" 264" 248" 20.8" 541" 85" 71" 248" 15" 39" 83" 4.7" 1.3" 50" 16931b

Flange mounted Gear Box Dimensions

D
N
= w :
— M Y
@ X
t @B @A T
O '
®
K

RANGE RATIO A B C D E J K M N w X Y z MASS

450 35000 175 20 400 1020 120 100 5 120 6002 18 64 218
3.42 - 12.68:1

177" 13.8" 07" 08" 157" 402" 47" 39" 02" 47" 24" 07" 25" 481

450 350.00 175 22 400 1103 140 10 5 140 70.02 20 74.5 348
14.06 - 21.41:1

177" 13.8" 07" 09" 157" 434" 55" 43" 02" 55" 28" 08" 29" 767

450 35000 175 22 400 170 170 140 5 210 9003 25 95 438
23.04 - 35.09:1

177" 13.8" 07" 09" 157" 461" 67" 55" 02" 83 3.5" .00 37" 966

550 45000 18 31 500 1305 210 180 5 210 100.03 28 106 608
39.45 - 63.08:1

21.7" 177" 07" 12" 197" 514" 83" 71" 02" 83" 39" 420 1340

550 45000 18 31 500 1392 210 180 5 210 12003 32 127 768
69.41 - 92.06:1

21.7" 17.7" o7" 12" 197" 548" 83" 71" 0.2" 83" 4.7" 13" 50" 1693

GLOBE PISTON AIR MOTOR BROCHURE - 45




Options RM510 | Control Valve

Why you need a control valve for your RM510 Piston Air Motor

Control valves allow you to change the speed and direction of the motor, they are mounted directly onto the air
motor. This range of bolt on valves offers very sensitive speed and directional control. One frictionless matched
spool and sleeve assembly is offered with two alternative means of actuation.

Configuration

As standard these valves can be supplied with either EQUAL POWER OR BIASED POWER spools, the latter is
suitable for hoisting applications (normal power for lifting - reduced power for lowering).

The direction of reduced power must be stated when ordering CW or CCW, when viewed on the output shaft of
the motor.

Hand Controlled (HCV) - The control valve spool is operated directly by a lever mechanism. Speed increase is
obtained as the lever is moved in either direction from the centre (neutral) position.

Remotely Controlled (RCV) - This option is usually controlled from a remote position by one of the PC series or
LC2 remote controllers. A variable air pilot signal is applied to either end of the valve spool, depending on the
required direction of motor rotation. The pilot pressure range is between 1.4 bar (20 psi) and 4.8 bar (70 psi),
increased pilot pressure gives increased speed. The valve is spring centred to neutral.

Pressure Drop - Minimal pressure drop will be experienced through the valves, having the effect of
maintaining the output torque whilst reducing the motor output speed by approximately 10-15% at 6 bar (90 psi)
at maximum power. The starting torque remains unaffected.

Dimensions

HAND CONTROL VALVE
413 mm 90 mm

O _ 197 mm o
— Inlet port Port| Datum

112" BSP 190 mm

Y
J

o
Lot

Y

A@éﬁ
RNI¥iiZ

Operating lever can b

" ; Exhaust port Face
fitted on either end 1-1/2" BSP
97 mm
a - 27 mm
> 355 mm , Port| Datum
REMOTE CONTROL VALVE Inlet port J 197 mm 97 mm

1-172 BSP_\ Secondary ethust

port 1-1/2" BSP

a7 —
e ("6 (IRl

Motor centre line — One pilot port each end 1/4" BSP
Caps may be positioned with port
at top, bottom or either side

Mounts onto
motor port face

46 - GLOBE PISTON AIR MOTOR BROCHURE




Spare Parts List Hand Control Valve

(9 =
B—m

Part No. Description Qty
521-066 End Cap Gasket

1
521-913 Matched Spool and Sleeve 1 (Equipower)
521-914 Matched Spool and Sleeve 1 (Biased)
817-002 Shoulder Screw 10 mm 1
521-071 Centering Shaft Guide 1
802-033 Set Screw M8 x 25 8
523-041 Lever Cap 1
808-013 ORing 2" x 1/8" 6
521-060 Valve Body 1
521-068 Valve Sleeve Spacer 1
521-072 Washer, Spring Centering 1
814-020 Spring Flexo 403824 1
521-064 End Cap - Spring End 1
113-050 Vent Plug 1
816-061 Plug 1/4" BSPT Sq. Head 3
523-024 Toggle Shaft 1
523-026 Toggle Pin 1
523-008 Hand Lever Pivot 1
313-002 Hand Lever 1
818-002 Black Plastic Knob 1-1/2" 1
804-013 Circlip 20mm External 2
815-010 Grub Screw M8 x 10 1
815-002 Grub Screw M8 x 16 1
Spare Parts List Remote Control Valve
~
O
—
Part No.  Description Qty
521-066 End Cap Gasket
521-913  Matched Spool and Sleeve (Equipower)
521-914  Matched Spool and Sleeve (Biased)

817-002  Shoulder Screw 10 mm
521-071  Centering Shaft Guide
802-033 Hex Head Screw M8 x 25
521-065 End Cap - Plain End
808-013 O Ring 2"x2-1/8"
521-060 Valve Body

521-068 Valve Sleeve Spacer
521-072  Washer, Spring Centering
814-019  Sprin, Control Spool
521-064 End Cap - Spring End
521-033  End Cap Washer
816-074  Plug 1; " BSPT

QW = —m a ON — 00— — — — N

GLOBE PISTON AIR MOTOR BROCHURE - 47




Spare Parts List RM510

Part No.

807-006
520-006
520-011
807-005
804-066
510-001
510-030
510-082
520-902A
520-024
520-022
530-077
520-052
807-062
804-068
808-047
520-901
520-904
510-088
801-009
806-013
520-076
520-113
816-071
520-012
510-090
520-081
520-078
809-035
802-073
803-015
802-054
802-033
815-008

72A - 72B

Description

Rotary Valve Bearing (Outer)
Rotary Valve

Rotary Valve Housing
Rotary Valve Bearing (Inner)
Rotary Valve Bearing Circlip
Rotary Valve Housing Gasket
Cylinder Gasket

Cylinder

Piston Assembly
Compression Ring

Oil Control Ring

King Rod

Crankshaft Spacer
Crankshaft Bearing
Crankshaft Bearing Circlip
Crankshaft Oilseal

Std. Crankshaft Assembly
SAE Crankshaft Assembly
Crank Bolt

Crank Nut

Spring Dowel

Std. Flange Plate

SAE Flange Plate

Plug

Engine Case

Engine Case Gasket (520)
Queen Rod Pivot

Queen Rod

Cylinder Bolts

Valve Housing Bolts
Washer for Item #38
Adaptor Plate Bolt

Exhaust Cover Bolts

Flange Plate Plugs

Qty

* ok

* %k

*

[ F N ANAN N —= == = = NN —= OO0 — — — —

Kit No.

529-911
529-91

529-911
529-911

529-911

529-911

Item Part No.
45 808-004
46 130-066
48 807-047
50 811-030

51A 520-005
51A 520-105

55 807-063
56 807-012
57 809-001
58 809-002
59 802-016
61 806-011

62 806-022
63 518-001

64 518-004
65 804-017
66 804-002
67 518-003
68 518-005
69 808-042
70 518-002
71 816-015

72A 520-003

72B 520-103

73 430-004
529-911

If unit is pre 1990 supplied, consult manufacturer to confirm design.

Description

Seal (transit only)
Breather Plug
Needle Bearing
Key

Rotary Valve Exhaust Cover BSP
Rotary Valve Exhaust Cover NPT

Output Shaft Bearing (Outer)
Output Shaft Bearing (Inner)
Flange Plate Cap Screws
Output Housing Bolts
Output Housing Cover Bolts
Drive Pin (Dia. 10mm)

Drive Pin (Dia. 12mm)
Output Shaft Bearing Spacer
Output Shaft Spring Ring
Output Shaft Circlip

Output Shaft Seal

Output Shaft

Output Shaft Housing
Output Shaft Oil Seal
Output Shaft Housing Cover
Output Shaft Grease Nipple
Inlet Adaptor Plate BSP

Inlet Adaptor Plate NPT

Inlet Adaptor Plate Gasket
RM510 Seal Kit

Qty

1
1
1
1
1
1
1
1
1
5
5
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

*

*

Kit No.

529-911

529-911

48 - GLOBE PISTON AIR MOTOR BROCHURE




RM610 Piston Air Motor

23 kW / 31.3 H.P.

Why buy the GLOBE RM610 Piston Air Motor

Our RM610 Piston Air Motors have a power range of 23 kW (31.3 HP) with 150 Nm (110 Ibs ft.) torque at max.
power. Our piston air motors are designed to develop geater power than other motors of equivalent size. These
piston motors can be completed as desired with various accessories such as brakes, (control) valves and gear-
boxes.

Dimensions RM610

‘ 470 mm | 434 mm . 200 mm |
] Inlet & Secgndary 5.0 mm Circlip Groove
Filler / A B —
er Exhaust Adaptor Plate
2 Ports Tapped 2" BSP o 80 mm
(deleted when using - l— 76 mm
valve gptigns)
[y
7@57 m 35 mm 310
Primary — A ! mm
Exhaust ‘
- N 120 mm
Port Tapped AR 4
2" BSP 14
385 mm dia.Flange _..| L_ 68 mm
Oil Level Plug L] Effective
(Horizontal mounting) — — 10 mm
18 mm dia. Square Key

Qil Drain Plug
(Level Plug Vertical Mounting)

on 350 mm P.C.D. Mounting Face

Arrows show direction of rotation
with airflow direction as shown
(Reverse port connections A & B
for opposite rotation)

Dimensions RM610 + Foot Bracket

434 mm

-l fouey | oalll- oo )
Inlet & Secopdary
Exhaust Adgptor Plate

200 mm

Y

Circlip Groove

2 Ports Tapped 2" BSP [#— 80 mm
(deleted when using - l— 76 mm
valve odlim&‘
| 165 mm [}
aREn 5 2 st
Primary — 4 | " mm
Exhaust #
X - 120 mm
i
f’ ; oy
Port Tapped i ¥ !
mm 2" BSP . L4
re height . 68 mm
Effective
r — — 10 mm
146 mm Square Key
f0mm
f‘\ Armrows show direction of rotation
205 mm ? ? with airflow direction as shown
4 holes (Reverse port connections A & B
386 mm

P

lan - Foot bracket fixing hole details

22 mm diameter

for opposite rotation)

GLOBE PISTON AIR MOTOR BROCHURE - 49




Gearbox ratio: None

Maximum speed: 2000 RPM
No Control Valve fitted

Reading Graphs - Scales have been adjusted to enable bar and psi to be read from a common curve.
Therefore only read psi with the left hand axis and bar with the right hand axis.

GRAPH 1 TORQUE - SPEED

o T T T T T
1 SPEED - The motor can be operated
1 e )= = - _ _ 1 _I continuously in the areas covered by the 240
80 graphs, but in certain circumstances the
. \ operating envelope can be extended.
teod— "~ —\ = = T | Contact factory. -
_———ﬁyx‘90p|-—-~———-—--———-—2oo
S/
140
_"'N<" 80‘\"'"""""'_
£ 120 — o \\ 160 £
w
z
2 4 TS _.\_. _xx_______ w
S B =i i S BNAN S I
G FEEEEEE et s e L S = SN AN\ - = 4120
S % | N S
SR B o S [ e NS N N N W A
i —— 40 \ \ \
60 ‘\ 80
40'______"'_ o R e _\'_
[ ] I P R - __.._____x.__ 140
=~
F e ) ) B E— E— —— E—E— —h—
0 T T 0

T T T T T T T T
0 200 400 600 800 1000 1200 1400 1600 1800 2000
SPEED revs per min

GRAPH 3 POWER - SPEED
32

wloclm=ef--d-- __l‘__./::?\____
. I ~ \\ |
28 o, 20
i &7 — N
e S/ \_
244 /’%0 T »
24— — T~
1 I-15
& 20 7 5>
-1, At~ —b——<---1
2 1/ w1 3
&15—'______/7' '/""’""""\\'_ 5
@, VAR == ~l Y.z
x 14 10 0O
O 1 // L o
I 12 0
i C/ B
] / 5
61=—= o =
N / PEAK POWER is developed at 1500 r.p.m. and it is. |
4 desirable that the motor’s continuous operating 1
1= = = == = { conditions are as close to this as possible, since this -+
2 : gives optimum performance and air consumption. -
0 T T —— — f 0

1 1 L
T 1 T 1 T 1 T 1 T 1 T
0 200 400 600 800 1000 1200 1400 1600 1800 2000
SPEED revs per min

LUBRICATING OIL CAPACITIES
Horizontal 1,1 litres Vertical 2,1 litres

Use a goood quality hydraulic oil with a viscosity of around

100cSt (460SSU) at 40°C (104°F)

AIRLINE FILTRATION AND LUBRICATION
Use 64 micron filtration or better. Choose a lubricator suita-

ble for the flow required. Prior to initial start-up, inject oil into

the inlet port.

GRAPH 2 STARTING TORQUE - PRESSURE

PRESSURE bar
T T T T T T T T
[ i 2 3 4 5 6 7 8 |
280 T T T T T T T T T T 1
STARTING TORQUES vary between the minimum | L a
"| and maximum levels shown. These dependonthe [~ [~ = T = =~ = [ B
inlet pressure. When designing for applications : : -
240 -+ where the minimum start torque requirement is 1 1 1
- equal to the running torque (as for example on == -1 - = A
hoists), the motor should be operated within the 1 1
darker shaded area. This will ensure that the motor 1 f f —300
2004 will always have adequate starting torque. . — e b
& 1 1 I
s 1 1 /:; §
N AT
L 160 T T T g
2 - = & L o = F <4200
(o} 1 1 24
S 10 ! Ll
= = = T = “raT =
1 1 L
1 1
80 S il e
1 1 |-100
- - L L S
| 1
40 + B
- - ) S | S T e I L] oI I T Sy S
/ 1 1 1 1 1 1 LI
1 1 1 1 1 1 1 1
0 0
0 10 20 30 40 50 60 70 80 90 100 110 120
PRESSURE PSI
GRAPH 4 CONSUMPTION - SPEED
1200
1100 500
N e
-51000 <450
Q
,?-_’900——-————---—-——-——«— =A== -[—F-400
c >
= A
[ o e — m— — ) S = o I
£ / 350 %
5 200 DA A o
o Y =T=TiT= A‘— —7(-—300,.::
z //5\/ o
Qe IS > ;
= R R R By /—— - - |- =~ }-250
2 500 b4 ‘-\“’/ F:
=
) 400 /r e
O 300 4 7
£ |-- ,éé/é——-——-——-—————-————-—100
<C 200
100 =i L EEE LS EE S L L
0 I T 0

T T T T T T T
0 200 400 600 800 1000 1200 1400 1600 1800 2000
SPEED revs per min

GENERAL DATA

MASS (motor only) 125 kgs (276 Ibs)

MOMEMT OF INERTIA of rotating parts 14 gm? (motor
only )

MAX OVERHUNG FORCE on motor shaft 6500 N (1460
bf)

TEMPERATURE RANGE -20°C to +60°C (-4°F to +140°F)
/ -10°C to +60°C (-14°F to +140°F) with brake

Lubricator drop rate 8-10 drops/minute continuous operation

Lubricator drop rate 16-20 drops/minute intermittent operation

50 - GLOBE PISTON AIR MOTOR BROCHURE




Options RM610 | Brake

Why you need a brake for your RM610 Piston Air Motor
The combination of motor with brake is widely used for winches, cranes and positioning devices. The brake mo-
dule bolts directly onto the motor mounting face and has exactly the same interface as the motor.

Dimensions RM610 Brake

. 172 mm 96mm__
16 mm 16 mm
e = B
E 5.1/mm i
- —
—— 268 mm
I ] 1]
7 | L
[———
A

Motor
interface

—
35.02 mm
35.00 mm

Note - same mounting

,@e as motor

38.00 mm
37.71 mm Mounting
10.00 mm};+| r* face

9.96 mm

450 mm

(Adjustable)

310.00 mm

309.92 mm

I

A

Mounting spigot

385 mm diameter flange

Brake line inlet compression
fitting for 5/16" O/D tubing

Brake spring adjusters Pilot air

connection

| [T
Fasiai — ROy

T

Ry
\\\\\\\\\\\\
>

o
2

Q

>
-

&,
",

.

L

S

I
7

o

o

e

5 holes 18 mm diameter
on 350 mm P.C.D.
Max. bolt length 35 mm

View on shaft end

With or without ATEX Certification

For ATEX it is important that there is no possibility for the brake to drag while the motor is running. This will cause
friction which will heat up the brake. The GLOBE Brakes for the Piston RM Air Motor series are available with or
without ATEX Certification for safe operations in hazardous environments. when used in an ATEX application, the
brake torque is pre-set by GLOBE to a maximum torque which belongs to the desired operating pressure of the
motor. The end-user has to inform GLOBE prior to the delivery about the (max.) operating pressure of the motor.
At this pressure the brake will be fully released. This is done by adjusting the GLOBE APPV3214 valve which is
integrated in the pneumatic control system. Whenever this system’s pressure drops to a lower amount than 20%
below the set release pressure, the valve closes and the brake will be blocked. This system prevents dragging of
the brake shoes while operating by (unnoticed) pressure drops or incorrect handling.

Any unauthorized adjustment will make ATEX invalid. Changing or adjusting the pneumatic system, including the
valves, which controls the brake will also make ATEX invalid.

GLOBE PISTON AIR MOTOR BROCHURE - 51




Spare Parts List Parking Brake

Part No.

816-005
512-013
512-030
512-021
804-017
811-006
808-002
512-001
512-036
807-013
412-003
803-003
512-008
518-001
518-002
808-042
512-005
807-063
802-016
804-068
816-265
802-053
802-052
802-094
808-071
512-011
512-009
512-024
814-011
512-901
816-006
808-090
811-030
7008G18

Description

Banjo Bolt C/W/ Nut&Rin 5/16

Plunger Plate

Gasket Plunger Block
Plunger Block

Circlip 40mm External
Key K130

O Ring-1/8"x1-3/8"
Brake Wheel

Wheel Spacer

Bearing 6308 2RS

Pin

Washer M 16

Brake Housing

Output Brg Spacer
Output Bearing Housing Cap
Oilseal 48x62x8/R4
Brake Shaft

Roller Bearing

Hex Head Screw M6 x 16
Circlip 90mm External
Screw Plugs (Bluemay)
Set Screw M10 x 25

Set Screw M10 x 20

Bolt M16 x 40 Hex Head
U Packing U132

Plunger

Adjuster Screw

Locknut

Spring MSD15

Brake Shoe Assy

Banjo Bolt 1/4" BSP
Bonded Seal 1/4"BSP Dowty
Key 10 x 8 x 63

Breather plug 1/8 BSPP (ATEX only)

Qty

e N =N NNNNNNNOARMN WA — — —m e OV — — = = N — — — —

52 - GLOBE PISTON AIR MOTOR BROCHURE




Options RM610 | Gearbox

Why you need a gearbox for your RM610 Piston Air Motor
We can supply allour piston motors in combination with many different gearboxes. If you are looking for more
torque for a certain application, we can assist you by selecting the right kind of gearbox. Order your RM610

Piston Air Motor in combination with a gearbox for higher torques and lower speeds.

Performance summary

Maximum Power Conditions Approx. Min. Max Max overhung Weight
Gearbox . Start torque Cont. Force

Rati orque Motor &

e kW | HP | RPM Gearbox | Adapter | Gearbox kit © ol:
Nm | IbEF. | Nm | IbLF. | RPM | N Ibf. Gearbox

5.24 16 225 210 734 541 807 596 281 13870 318 85 18 103 218

25.05 16 225 44 3507 2588 3858 2847 59 45000 mon7z 215 18 233 348

50.74 16 225 22 7104 5243 7814 5767 29 50000 1241 305 18 323 438

92.06 16 225 12 12888 9512 14177 10463 16 120000 26978 635 18 653 768

GLOBE PISTON AIR MOTOR BROCHURE - 53




Base mounted Gear Box Dimensions

J P
M Y
] oy / \ L
T © ’
H A
O
— A
| ® T @R HE s
| ———— e |
€ EB —T
G
RANGE RATIO A B C D B IF G H J L M P R T W X Y Z MASS
225 132 310 250 159.5 365 340 469 131 125 100 410 22 50 120 60.02 18 64 228 kg
3.42 - 12.68:1
8.9 52 12.2" 9.8" 6.3" 14.4"  13.4" 18.5" 445" 49" 39" 161" 0.9" 20" 47" 2.4" 0.7" 2.5" 503 b
250 150 370 290 185 440 400 507 1092 145 110 462 26 55 140 70.02 20 745 358kg
14.06 - 21.41:1
9.8" 59" 14.6" 1.4" 7.3" 173" 157" 20.0" 43.0" 57" 43" 182" 102" 22" 55" 2.8" 0.8" 29" 789 |b
315 220 410 340 260 490 450 578 199 216 180 510 33 60 210 100.03 28 106 438kg
23.04 - 35.09:1
12.4" 8.7" 161" 13.4" 102" 19.3" 177" 22.8" 472" 85" 71" 201" 1.3" 24" 83" 3.9" 11" 42" 988 Ib
355 215 500 380 260 590 530 660 1305 216 180 580 39 65 210 100.03 28 106 608 kg
39.45 - 63.08:1
14.0" 8.5" 19.7" 150" 10.2" 232" 209" 26.0" 51.4" 85" 71" 228" 1.5" 2.6" 8.3" 3.9" 11" 42" 13621b
425 225 580 500 270 670 630 758 1373 216 180 630 39 100 210  120.03 32 127 768 kg
69.41 - 92.06:1

16.7" 89" 228" 197" 10.6" 264" 248" 29.8" 541" 85" 71" 248" 1.5" 39" 83" 4.7" 1.3" 50" 17151b

Flange mounted Gear Box Dimensions

J

D
N
= W :
— M N
@ x I
z
@B OA
O
®
K
RANGE RATIO A B c D E J K M N X Y z MASS
450 35000 175 20 400 1020 120 100 5 6002 18 64 218 kg
3.42-12.68:1
177" 13.8" 07" 08" 157" 402" 47" 39" 02" 24" 07" 25" 481l
450 35000 175 22 400 1103 140 110 5 7002 20 745  348kg
14.06 - 21.41:1
77" 138" 07" 08" 157" 434" 55" 43" 02" 28" 08 29" 767l
450 35000 175 22 400 170 170 140 5 90.03 25 95  438kg
23.04 - 35.09:1
77" 138" 07" 08" 157" 461" 67" 55" 02" 35" 10" 37"  966lb
550 45000 18 31 500 1305 210 180 5  100.03 28 106  608kg
39.45 - 63.08:1
207° 77" 07" 12" 197 514" 83" 71" 02" 39" 11" 42"  1340lb
550 450.00 18 31 500 1392 210 180 5 120.03 32 127 768 kg
69.41 -92.06:1

21.7" 17.7" 07" 12" 197" 548" 83" 71" 0.2" 4.7" 1.3" 50" 1693 Ib

54 - GLOBE PISTON AIR MOTOR BROCHURE




Options RM610 | Control Valve

Why you need a control valve for your RM610 Piston Air Motor

Control valves allow you to change the speed and direction of the motor, they are mounted directly onto the air
motor. This range of bolt on valves offers very sensitive speed and directional control. One frictionless matched
spool and sleeve assembly is offered with two alternative means of actuation.

Configuration

As standard these valves can be supplied with either EQUAL POWER OR BIASED POWER spools, the latter is
suitable for hoisting applications (normal power for lifting - reduced power for lowering).

The direction of reduced power must be stated when ordering CW or CCW, when viewed on the output shaft of
the motor.

Hand Controlled (HCV) - The control valve spool is operated directly by a lever mechanism. Speed increase is
obtained as the lever is moved in either direction from the centre (neutral) position.

Remotely Controlled (RCV) - This option is usually controlled from a remote position by one of the PC series or
LC2 remote controllers. A variable air pilot signal is applied to either end of the valve spool, depending on the
required direction of motor rotation. The pilot pressure range is between 1.4 bar (20 psi) and 4.8 bar (70 psi),
increased pilot pressure gives increased speed. The valve is spring centred to neutral.

Pressure Drop - Minimal pressure drop will be experienced through the valves, having the effect of
maintaining the output torque whilst reducing the motor output speed by approximately 10-15% at 6 bar (90 psi)
at maximum power. The starting torque remains unaffected.

Dimensions

HAND CONTROL VALVE
413 mm 90 mm

197 mm g

- .
ol |

Inlet port Port| Datum

( 2" BSP

(Ey L‘D D()@ 37 mm

Y

190 mm

.7
VT

Operating lever can b

F
fitted on either end SxnaLst port =
\ 97 mm
27 mm
lt 355 mm Port | Datum
REMOTE CONTROL VALVE Inlet port ~ 197mm 97 mm
2 BSP \ Secondary exhaust
port 1-1/2" BSPT
J_Z'& 1 Z'&J_
37 mm
—W L T ) D
clTIo
Motor centre line —| one pilot port each end 1/4” BSP

Mounts onto

Caps may be positioned with port motor port face

at top, bottom or either side

GLOBE PISTON AIR MOTOR BROCHURE - 55




Spare Parts List Hand Control Valve

&20
B—w

Part No. Description Qty
521-066  End Cap Gasket

2
521-913  Matched Spool and Sleeve 1 (Equipower)
521-914 Matched Spool and Sleeve 1 (Biased)
817-002  Shoulder Screw 10 mm 1
521-071 Centering Shaft Guide 1
802-033  Set Screw M8 x 25 8
523-041  Lever Cap 1
808-013 ORing2”"x1/8" 6
521-060  Valve Body 1
521-068  Valve Sleeve Spacer 1
521-072  Washer, Spring Centering 1
814-020  Spring Flexo 403824 1
521-064  End Cap - Spring End 1
113-050  Vent Plug 1
816-061  Plug 1/4" BSPT Sq. Head 3
523-024  Toggle Shaft 1
523-026  Toggle Pin 1
523-008  Hand Lever Pivot 1
313-002  Hand Lever 1
818-002  Black Plastic Knob 1-1/2" 1
804-013  Circlip 20mm External 2
815-010  Grub Screw M8 x 10 1
815-002  Grub Screw M8 x 16 1
Spare Parts List Remote Control Valve
Part No.  Description Qty
521-066  End Cap Gasket
521-913  Matched Spool and Sleeve (Equipower)
521-914  Matched Spool and Sleeve (Biased)

817-002  Shoulder Screw 10 mm
521-071  Centering Shaft Guide
802-033 Hex Head Screw M8 x 25
521-065  End Cap - Plain End
808-013 ORing 2"x2-1/8"
521-060  Valve Body

521-068  Valve Sleeve Spacer
521-072  Washer, Spring Centering
814-019  Sprin, Control Spool
521-064  End Cap - Spring End
521-033  End Cap Washer
816-074  Plug ]fé" BSPT Sq. Head

W s N = 0 — — — = N

56 - GLOBE PISTON AIR MOTOR BROCHURE




Spare Parts List RM610

24A-24B

51A-51B

y
L “/:‘
7

&

Item Part No. Description Qty Kit No. ltem  Part No. Description Qty  KitNo.
01 807-056  Rotary Valve Bearing (Outer) 1 45 808-004  Seal (transit only) 1

02 620-006 Rotary Valve 1 46 130-066 Breather Plug 1

03 620-011 Rotary Valve Housing 1 48 807-047 Needle Bearing 1

04 807-055  Rotary Valve Bearing (Inner) 1 50 811-030 Key 1

05 804-070  Rotary Valve Bearing Circlip 1 51A  620-042 Rotary Valve Exhaust Cover BSP 1

06 620-001 Rotary Valve Housing Gasket  1* 629-912 51B 620-042N  Rotary Valve Exhaust Cover NPT 1

07 510-030  Cylinder Gasket 5* 629-912 55 807-063  Output Shaft Brg. (Outer) 1

08 510-082 Cylinder 5 56 807-012 Output Shaft Brg. (Inner) 1

09 520-902A  Pistion Assembly 5 57 809-001 Flange Plage Cap Screws 10

10 520-024 Compression Ring 5% 629-912 58 809-002 Output Housing Bolts 5

il 520-022 Oil Control Ring 5% 629-912 59 802-016 Output Housing Cover Bolts 5

12 520-077 King Rod 1 61 806-001 Drive Pin (dia. 10mm) 1

13 520-052 Crank Pin Spacer 2 62 806-002 Drive Pin (dia. 12mm) 1

17 807-062  Crankshaft Bearing 2 63 518-001 Output Shaft Bearing Spacer 1

18 804-068  Crankshaft Bearing Circlip 2 64 518-004 Output Shaft Spring Ring 1

19 808-047  Crankshaft Oilseal 1* 629-912 65 804-017 Output Shaft Circlip 1

20A 520-901 Std. Crankshaft Assembly 1 66 808-002  Output Shaft Seal 1% 629-912
20B 520-904 SAE Crankshaft Assembly 1 67 518-003 Output Shaft 1

21 510-088 Crank Bolt 1 68 518-005 Output Shaft Housing 1

22 801-009 Crank Nut 1 69 808-042 Output Shaft Oil Seal 1* 629-912
23 806-013 Spring Dowel 1 70 518-002 Output Shaft Housing Cover 1

24A 520-076 Std. Flange Plate 1 71 816-015 Output Shaft Grease Nipple 1

24B 520-113 SAE Flange Plate 1 72A  620-046 Inlet Adaptor Plate BSP 1

26 816-071 Plug 1 72B  620-046N Inlet Adaptor Plate NPT 1

27 620-012 Engine Case 1 73 620-047 Inlet Adaptor Plate Gasket 1* 629-912
28 510-090  Engine Case Gasket (520) 1* 629-912 78 620-045 Bearing Cap 1

29 520-081 Queen Rod Pivot 5 79 810-016 Bearing Cap C'sk Screw 4

30 520-078 Queen Rod 5 149-920 Conversion Kit

37 809-035 Cylinder Bolts 20 629-912 RM610 Seal Kit 1

39 802-054  Valve Housing Bolts 4

40 802-054  Adaptor Plate Bolt 4

41 802-033  Exhaust Cover Bolts 2

42 815-008 Flange Plage Plugs 5*

GLOBE PISTON AIR MOTOR BROCHURE - 57




Accessories for the GLOBE Piston Air Motor

'(I!|Dnb Iy

sjusuodwos sul .y

58 - GLOBE PISTON AIR MOTOR BROCHURE




Accessories

Brakes

Our pneumatic brakes can be combined with all our air motors. The combination of motor with brake is widely
used for winches, cranes and positioning devices. All brakes are built from cast iron or steel housings and are
available with either a IEC or NEMA flange mounting. This makes our brakes easy to install on our air motors and
gearboxes. If you have special requirements, we are happy to advise you on compound combinations.

Operating Principle Brake

The brake has a corresponding mounting interface, thus can be directly mounted on the motor. This brake consists
of two spring applied brake shoes (2) pressed against a central hub (1), which is mounted on the output shaft of
the motor. These shoes are released by applying air pressure to the cylinder / piston assembly (3/4). The brake
torque can be varied by means of two spring adjusters (7).

The brake must be mounted to a GLOBE Piston motor of equivalent size (for instance: RM 110 Brake on RM 110
Motor), including the correct piping and control valves which are supplied by GLOBE. Under no circumstances
should these parking brakes be offered or used for dynamic braking applications; they have not been designed
to meet the different criteria that apply in these cases.

\'4

—

Brake wheel Pilot pressure connection
Brake shoe (2x) Brake shoe spring (2x);
3 Brake release piston (2x); brake force actuator
brake force release Brake force adjuster (2x)
4 Brake release cylinder; Brake force adjuster locknut (2x)
pressure chamber

N
o O

© N
S39110SSDID

GLOBE PISTON AIR MOTOR BROCHURE - 59




With or without ATEX Certification

For ATEX it is important that there is no possibility for the brake to drag while the motor is running. This will cause
friction which will heat up the brake. The GLOBE Brakes for the Piston RM Air Motor series are available with or
without ATEX Certification for safe operations in hazardous environments. when used in an ATEX application, the
brake torque is pre-set by GLOBE to a maximum torque which belongs to the desired operating pressure of the
motor. The end-user has to inform GLOBE prior to the delivery about the (max.) operating pressure of the motor.
At this pressure the brake will be fully released. This is done by adjusting the GLOBE APPV3214 valve which is
integrated in the pneumatic control system. Whenever this system’s pressure drops to a lower amount than 20%
below the set release pressure, the valve closes and the brake will be blocked. This system prevents dragging of
the brake shoes while operating by (unnoticed) pressure drops or incorrect handling.

Any unauthorized adjustment will make ATEX invalid. Changing or adjusting the pneumatic system, including the
valves, which controls the brake will also make ATEX invalid. Our GLOBE Piston Air Motors with ATEX are availa-
ble on request.

Circuit A (Non ATEX)
Applies to braked motors supplied without control valving. The unit will be
fitted with a shuttle valve to allow brake operation for dual rotation.

Circuit B (Non ATEX)

Units supplied with hand (HCV) proportional control reversible valve

(C). When the HCV (C) is operated a pneumatic signal will be passed onto the the
shuttle valve (F) and the brake (B) is released.

e

n o
Q

L C

o Circuit C (Non ATEX)

3 =t Units supplied with remote (RCV) proportional control reversible valve (C).

v KP When the RCV is actuated by one of the pilot lines (p2) a pneumatic signal
&’ @B will be passed onto the shuttle valve (E) and the brake (B) is released.

p2

60 - GLOBE PISTON AIR MOTOR BROCHURE




Controls

Pendant Controls (PC2, 4 or 6)

The PC2, 4 and é remote controllers are designed specifically for use with the RCV modules. They provide the
correct range of pilot pressure required to operate the RCV units, and give excellent control of motor speed.

The PC2 is used to control one (hoist) motor; the PC4 can control two motors independently (say hoist and long
travel); the PC6 can control three motors independently (hoist, long travel, traverse). Motors of different sizes can
be controlled from the same unit. Control line lengths of 36 m / 120 ft. give excellent response. For distance in
excess of this contact factory. The control lines are small bore eliminating the need for large capacity air supply
lines between motor and controller. If required, supply pressure can be taken from the tapping on the RCV. MA-

RINE VERSION AVAILABLE. PC2M, PC4AM OR PCOM.

CIRCUIT SCHEMATIC FOR
1 SIGNAL OUTPUT PORT

Exhaust

© @ O
To Other
AEEA, 1@@37 Stations
\Signal / ‘
Outputs . Supply

Signal

All Connections Outputs

1/8" NPT Female

bontrols 1 Motor Controls 2 Motors Controls 2 Motors Controls 3 Motors
PC2 PC4 . PC4 PCé
with Emergency Stop
Lever control (LC2) Marine Style (LC2M)
PC2 | PC4 | PC6 | PCAL | PC6L
Lc2 LC2Mm KG 1.0 1.5 2.0 1.6 21
°© O °  Lever Control °[ “ O ” I° Lever Control LBS 23 3.3 4.3 3.5 4.7
120.00 (4.72") 12000 (4729 5] (Marine 1 - - - -
\ /
\\lfﬁA, £ ) A T B /) CIRCUIT SYMBOL
\ = /~ LEVER CONTROL VALVE

NOTE:

H and G are alternative supply ports.
A and B are outlet ports.

Plug alternative ports not connected.
E and F are exhaust ports.
All ports are 1/8" (BSP).

S$S9110SS9ID

GLOBE PISTON AIR MOTOR BROCHURE - 61




Silencers

Mufflers screw directly into the primary and secondary
exhaust ports. Note - control valves also have secon-
dary exhaust ports. These mufflers are designed for in-
termittent use. For continuous operation contact factory.

°L0,
05202
020,04

= I

If it is necessary to pipe the exhaust away from the
motor, care must be taken to adequately size the pipe-
work to avoid build up of back pressure in the system.
If in doubt consult our Applications Department.

110 Primary 110 Secondary 210 Primary 210 Secondary 310 410 510 610
Size 19.05 12.70 25.40 19.05 31.75 31.75 38.10 50.80
3/4" 1/2" 1" 3/4" 1-1/4"  1-1/4" 1-1/2" 2"
L 171.45 139.7 203.2 171.45 209.55 209.55 336.55 463.55
6.75 55 8.0 6.75 8.25 8.25 13.25 18.25

Normally supplied in kit form complete with fittings.

62 - GLOBE PISTON AIR MOTOR BROCHURE




Ordering code

Select easily with the ordering code your version and order it at our sales team. Do you have special wishes@ For
example ATEX Certified, different mountings, brakes etc. You name it and we make it possible. Contact us for your
wishes and we will be happy to engineer a proposal to suit your requirements.

X = Motor Only Maleshaft A = Motor with Inlet Plate
D = Motor + Brake H =Hand Lever Controll Valve
M = Motor Only Female Shaft R = Remote Controlled Valve
N = SAE ‘C’ Hydraulic Pump Output X=No Valving or Adaptor Plate
V = Grease Lubricated for Shaft Upwards Operation
VALVE OPTIONS
OUTPUT OPTIONS
0 = Standard Motor & Ancillaries,
® | for Standard Mounting
NOMINAL GEARBOX RATIO
XX =No Gearbox o e
C—— ~
DESIGN CODE =BsP
= NPT

= Biased: CW Lowering (BSP)
= Biased: CCW Lowering (BSP)
= Biased: CW Lowering (NPT)
= Biased: CCW Lowering (NPT)
4

RM110 (1.7 KW / 2.4 HP) =R 14
RM210 (4 KW / 5.5 HP) =R23
RM310 (7.5 KW / 10 HP) =R33
RM410 (14 KW / 19 HP) =R43
RM510 (14 KW / 31 HP) =R52
\RMélO (14 KW / 32 HP) = R62j

o0 n @ v = o)

GLOBE PISTON AIR MOTOR BROCHURE - 63




G LO B E AIRMOTORS B.v.

GLOBE Airmotors | Boerhaaveweg 9-11 | NL - 2408 AD Alphen a/d Rijn | Tel +31 172 426 608 | info@globe-benelux.nl

—

Compact Piston Air Motors Pneumatic Brakes

Planetary Geared Vane Air Motor

Vane Air Motors Specials: Costum Build

This document, as well as the CAD data of the vane air motors are available for download on globe-
benelux.nl.

globe-benelux.nl






